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Data Interpretation/vkdM+kass dk fuoZpu
( Practice Sheet With Solution)

Direction (01): Study the given table and answer the
question that follows.

fuEukafdr rkfydk dk vè;;u djs a vkSj uhps fn, x, ç'u dk
mÙkj nsaA

The table shows the classification  of 100 students based
on the marks obtained by them in History and

Geography in an examination.

;g rkfydk ,d ijh{kk esa bfrgkl vkSj Hkwxksy esa Nk=kks a }kjk çkIr vadksa ds
vk/kj ij 100 Nk=kksa dk oxhZdj.k n'kkZrh gSA

    

Marks out of 50/50 esa ls vad

Subject

  fo"k;

History

  bfrgkl
Geography

  Hkwxksy
  Average
(Aggregate)

  vkSlr(dqy)

40 and
above

40 vkSj

mlls vf/d

30 and
above

30 vkSj

mlls vf/d

20 and
above

20 vkSj

mlls vf/d

10 and
above

10 vkSj

mlls vf/d

0 and
above

0 vkSj

mlls vf/d

 9

 7

 4

 32

 21

 27

 80

 66

 73

 92

 81

 87

 100

 100

 100

1. Based on the table, what is the number of students scoring

less than 20% marks in aggregate?

rkfydk ds vkèkkj ij] oqQy 20» ls de vad izkIr djus okys Nk=kksa
dh oqQy la[;k fdruh gS\

SSC CGL 14/07/2023 (Shift-01)

(a) 13 (b) 11

(c) 10 (d) 12

Direction (02): The following bar chart represents the
gross amount (in Rs.lakhs) and total cost (in Rs. lakhs) of a firm.

fuEufyf[kr ckj pkVZ ,d iQeZ dh ldy jkf'k (#i;s yk[k esa) vkSj
oqQy ykxr (#i;s yk[k esa) n'kkZrk gSA
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s

2016-17

3500
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2017-18

4500

5000

2018-19

5500

6000

2019-20

6500

7500

Y

X

Years

Total/dqy

Gross Amount/ldy jkf'k

2. In order to make a profit of 25%, what should the gross

amount have been (in Rs. crores) in 2019-2020, if the

total cost remained the same?

25» dk ykHk vftZr djus ds fy,] 2019& 2020 esa ldy jkf'k (#i;s
djksM+ esa) fdruh gksuh pkfg,] ;fn oqQy ykxr leku jgrh gS\

SSC CGL 14/07/2023 (Shift-01)

(a) 7800 (b) 8000

(c) 8250 (d) 8125

Direction (03): Study the given pie chart and answer
the question that follows.

fn, x, ikbZ pkVZ dk vè;;u dhft, vkSj uhps fn, x, iz'u dk
mÙkj nhft,A

          Population of six villages in 2020

         o"kZ 2020 esa 6 xk¡oksa dh tula[;k

12%
  A

13%
 B

32%
 C

8%
D

17%
 E

18%
 F

3. The population of village D in 2020 was 10,500. What
was the population of village A in 2020? Total
population of these six villages is 100%.

2020 esa xk¡o D dh tula[;k 10,500 FkhA 2020 esa xk¡o A dh
tula[;k fdruh Fkh\ bu Ng xk¡oksa dh oqQy tula[;k 100% gSA

SSC CGL 14/07/2023 (Shift-02)

(a) 15,570 (b) 15,750

(c) 17,550 (d) 7,875

4. What is the central angle corresponding to the sector
indicating the expenses incurred on Health?

LokLF; ij gksus okys O;; dks n'kkZus okys {ks=k ds vuq:i dsanzh; dks.k D;k gS\

      Amount spent of various expenses

       fofHkUu O;;ksa ij [kpZ dh xbZ jkf'k

20000
 Rent

15000
Health

80
00

Edu
ca

tio
n

2000Entertain.

5000

E
lectricity

SSC CGL 14/07/2023 (Shift-03)

(a) 72° (b) 54°

(c) 110° (d) 108°
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Direction (05): Study the given table carefully and
answer the following question.

nh xbZ rkfydk dk è;kuiwoZd vè;;u dhft, vkSj fuEufyf•r ç'u
dk mÙkj nhft,A
The table shows the percentage of students of four departments
- Mechanical, Civil, Computer Science and Applied - with each
student being in only one department. The table also shows
the number of students of these four departments in five

different colleges, with the total number of students being 2080.

rkfydk pkj foHkkxksa & eSdsfudy] flfoy] daI;wVj lkbal vkSj ,IykbM & ds
fo|kfFkZ;ksa ds çfr'kr dks n'kkZrh gS] ftlesa çR;sd fo|kFkhZ dsoy ,d foHkkx esa
gSA rkfydk] fo|kfFkZ;ksa dh dqy la[;k 2080 gksus ds lkFk ikap vyx&vyx
dkWystksa esa bu pkj foHkkxksa ds fo|kfFkZ;ksa dh la[;k Hkh n'kkZrh gSA

  

Number of Computer
College Mechanical Civil Applied

students Science

IIT Delhi 430 – 20% – 10%

IIT Kanpur 350 20% – 25% –

IIT Bombay – 20% 18% – 32%

IIT Madras – – 25% 18% 35%

IIT Guwahati 400 20% 22% – 20%

5. If the number of students in IIT Bombay is 20% less
than the number of students in IIT Madras, then the
number of students in IIT Bombay is:

;fn IIT ckWEcs esa fo|kfFkZ;ksa dh la[;k] IIT enzkl esa fo|kfFkZ;ksa dh la[;k
ls 20» de gS] rks IIT ckWEcs esa fo|kfFkZ;ksa dh la[;k fdruh gS\

SSC CGL 14/07/2023 (Shift-03)

(a) 300 (b) 500

(c) 200 (d) 400

Direction (06): Study the given bar-graph and answer
the question that follows.

fn, x, naM&vkjs[k dk vè;;u dhft, vkSj uhps fn, x, iz'u dk
mÙkj nhft,A
The bar graph shows the sales of cycles (in 1000 numbers)

from four different companies during 2018.

naM vkys[k 2018 ds nkSjku pkj fofHkUu daifu;ksa ls lkbfdyksa dh fcØh (1000
la[;k esa) n'kkZrk gSA

 

 

25 
30 

55 

70 

0

10

20

30

40

50

60

70

80

A B C D

S
a
le

s
 (
in

 1
0
0
0
 n

u
m

b
e
rs

) 

Different Companies 

Sales of cycles (in 1000 numbers) 
 from four different companies in 2018 

6. What is the average sales of all the companies (in 1000
numbers) for the year 2018?

o"kZ 2018 ds fy, lHkh daifu;ksa dh vkSlr fcØh (1000 la[;k esa)
fdruh gS\

SSC CGL 14/07/2023 (Shift-04)

(a) 45,000 (b) 34,000

(c) 54,000 (d) 24,000

Direction (07): The following table shows the number

of sweets manufactured by six factories.

fuEufyf[kr lkj.kh N% dkj[kkuksa }kjk fufeZr feBkb;ksa dh la[;k iznf'kZr
djrh gSA

7. What is the respective ratio of sweets manufactured by

factories P, Q and R together in the year 1998, to the

sweets manufactured by factories S, T and U together

in the same year?

o"kZ 1998 esa dkj[kkuksa P, Q vkSj R esa fufeZr feBkb;ksa vkSj mlh o"kZ
dkj[kkuksa S, T vkSj U esa fufeZr feBkb;ksa dk vuqikr D;k gS\

SSC CGL 14/07/2023 (Shift-04)

(a) 568 : 499 (b) 61 : 72

(c) 61 : 42 (d) 40 : 51

Direction (08): Select the correct statement with

respect to the below bar graph.

uhps fn, x, naM vkjs[k ds laca/ esa lgh dFku dk p;u dhft,A
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by three states A, B and C

8. Production of Rice (in lakh tonnes) by three state A, B and C

rhu jkT;ksa A, B vkSj C }kjk pkoy dk mRiknu (yk[k Vu esa)

SSC CGL 17/07/2023 (Shift-01)

(a) Rice production by A in 2016 is less than the rice

production by C in 2020.

2016 esa A }kjk pkoy dk mRiknu 2020 esa C }kjk fd, x,
pkoy mRiknu ls de gSA

(b) B produced more rice than A and C in 2018.

2018 esa B us A vkSj C ls vf/d pkoy dk mRiknu fd;kA
(c) The highest production of rice was in the year 2017.

pkoy dk lokZf/d mriknu o"kZ 2017 esa gqvk FkkA
(d) Rice production by B in 2017 is equal to the rice

production by A in 2020.

2017 esa B }kjk pkoy dk mRiknu 2020 esa A ds pkoy mRiknu
ds cjkcj gSA
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Direction (09): The following pie chart shows the

monthly sale of laptops of five companies A, B, C, D and E

in a store.

fuEufyf[kr ikbZ pkVZ esa ,d LVksj esa ik¡p daifu;ksa A, B, C, D vkSj E
ds ySiVkWi dh ekfld fcØh dks n'kkZ;k x;k gSA

E
12%

D
25%

C
8%

B
15%

A
40%

9. If 2,500 laptops were sold by the store in a month,

then what is the difference between the number of

laptops sold of Company A and that of Company C?

;fn ,d eghus esa LVksj }kjk 2]500 ySiVkWi csps x,] rks daiuh A ds
csps x, ySiVkWi dh la[;k vkSj daiuh C ds csps x, ySiVWki dh la[;k
ds chp dk varj D;k gS\

SSC CGL 17/07/2023 (Shift-02)

(a) 750 (b) 650

(c) 800 (d) 700

Direction (10): Study the given table and answer the

question that follows.

nh xbZ rkfydk dk vè;;u djsa vkSj uhps fn, x, iz'u dk mÙkj nsaA
The table shows the classification of 100 students based on the

marks obtained by them in Statistics and Mathematics in an

examination out of 50.

rkfydk ,d ijh{kk esa lka[;dh vkSj xf.kr esa Nk=kksa }kjk 50 esa ls izkIr vadksa ds
vk/kj ij 100 Nk=kksa dk oxhZdj.k n'kkZrh gSA

0

8 33 90 82 100

5 22 60 87 10

Subject

Math

Statistics

40 and 

above

30 and 

above

20 and 

above

10 and 

above

0 and 

above

10. If at least 60% marks in Mathematics are required for

pursuing higher studies in Mathematics, then how

many students will be eligible to pursue higher studies

in Mathematics?

;fn xf.kr esa mPp f'k{kk tkjh j[kus ds fy, xf.kr esa de ls de 60»
vad vk'o;d gSa] rks fdrus Nk=k xf.kr esa mPPk f'k{kk tkjh j[kus ds
fy, ik=k gksaxs\

SSC CGL 17/07/2023 (Shift-03)

(a) 33 (b) 27

(c) 90 (d) 10

Direction (11): The following table gives the information of
the number of students (in thousands) placed in five different

companies during six different years.

fuEufyf•r rkfydk Ng vyx&vyx o"kks± ds nkSjku ikap vyx&vyx daifu;ksa
esa j•s x, Nk=kksa dh la[;k (gtkjksa esa) dh tkudkjh nsrh gSA

A G Y T F

2010

2011

2012

2013

2014

2015

9.6

10.4

12.6

16.8

19.3

18.7

10.4

12.6

9.8

15.4

13.4

16.7

9.3

7.2

10.4

11.4

13.4

12.7

9.8

13.8

14.9

16.3

11.8

15.7

8.7

6.2

9.8

11.3

7.8

13.7

CompanyYear

11. What is the difference (in thousands) between the

students placed in all companies in the year 2014 and

2012?

o"kZ 2014 vkSj 2012 esa lHkh daifu;ksa esa ukSdjh ikus okys Nk=kkssa dh
la[;k ds chp varj fdruk gS (gtkj esa)\

SSC CGL 17/07/2023 (Shift-03)

(a) 9000 (b) 7800

(c) 8200 (d) 7500

12. Study the given pie-chart carefully and answer the

following question.

fn, x, ikbZ&pkVZ dk è;kuiwoZd vè;;u dhft,A

If scholarship has to be paid out of the donation fund,

then what is the percentage of donation fund used for

this purpose (rounded off to two decimal places)?

;fn Nk=kof̀r dk Hkqxrku nku iQaM ls fd;k tkuk gS] rks bl mís'; ds
fy, mi;ksx fd, x, nku iaQM dk izfr'kr (n'keyo dks nks LFkku rd
iw.k±afdr) fdruk gSa\

The entire fund that school gets from different sources

is equal to Rs.10 lakh

Ldwy dks fofHkUu lzksrksa ls feyus okyk iwjk iQaM 10 yk• #i;s ds cjkcj gS

    

Government 
agencies 

12%
NGO's
38%

Donation
35%

Internal
sources
15%

Source of funds in school

P
a
ym

e n
t 

1
1
%

School
maintains 

30%

Reserved
33%

Scholarship
26%

Uses of funds by school

SSC CGL 17/07/2023 (Shift-04)

(a) 74.29% (b) 72.15 %

(c) 80.25 % (d) 75.25%

13. The following table shows the scores of three attempts

of Archery Players in a tourament. the player scoring

the highest average score was decleared the best player.

Who the best player ?

fuEu rkfydk ,d Vquk±esaV esa rhjankth ds f[kykfM+;ksa ds rhu iz;klksa ds
Ldksj dks n'kkZrh gSA tks f[kykM+h mPpÙke vkSlr Ldksj djsxk og vPNk
f[kYkkM+h gksxkA mPPkre vkSlr Ldksj djus okys f[kykM+h dkSu Fkk\
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Score-1

62.50

69.05

73.81

74.30

64.29

Score-2

65.00

70.00

72.50

75.00

67.50

Score-3

64.50

67.52

74.20

77.50

63.28

Player

Angela

Maria

Sareena

Preeti

Deepika

SSC CGL 17/07/2023 (Shift-04)

(a) Angela (b) Maria

(c) Deepika (d) Preeti

Direction (14): Study the following table and answer

the question below.

fuEufyf[kr rkfydk dk vè;;u djsa vkSj uhps fn, x, iz'u dk mÙkj nsaA
Percentage of enrolled

students who optedTotal number ofSchool 

for Biologystudents enrolledName

(thofoKku dk pÕku djus(LoQwy dk (ukekafdr fo|kfFkZÕkksa 
uke) okys ukekfadr fo|kfFkZÕkkas dh oqQy l[aÕkk)

dk i

Ratio of male to 

female students 

who opted for Biology

A 900 30% 7 : 8

B 400 38% 9 :10

C 1000 24% 5 :19

D 800 18% 5 : 7

(thofoKku dk pÕku djus

okys Nk=kkas vkSj Nk=kkvkas
fzr'kr) dk izfr'kr)

14. What is the ratio of the total number of male students to

that of female students who opted for Biology in schools A

and D together?

LowQy A vkSj D dks lkFk feykdj muesa thofoKku dk p;u djus
okys oqQy Nk=kksa vkSj oqQy Nk=kkvksa dk vuqikr D;k gS\

SSC CGL 18/07/2023 (Shift-01)

(a) 38 : 31 (b) 21 : 38

(c) 31 : 28 (d) 31 : 38

15. In a factory, utensils are manufactured in three plants,
plant A, B and C. How many plates are manufactured

by plant B if total plates are 3260?

,d iQSDVªh esa crZuksa dk fuekZ.k rhu la;a=kksa (plants) A, B vkSj C

esa fd;k tkrk gSA ;fn fufeZr IysVksa dh dqy la[;k 3260 gS] rks
la;a=k (Plant) B }kjk fdruh IysVksa dk fuekZ.k fd;k tkrk gS\

100%

80%

60%

40%

20%

0%
Bowl Spoons 

Plant-A

Plant-B

Plant-C

Plates Glass

Share in manufacturing

Shares in manufacturing – fuekZ.k dk fgLlk

Bowl – dVksjk        Spoons – IysV

Glass – fxykl

SSC CGL 18/07/2023 (Shift-02)

(a) 1467 (b) 1304

(c) 1254 (d) 1141

Direction (16): Study the following bar chart and

answer the question.

fuEufyf[kr n.M vkjs[k dk vè;;u dhft, vkSj iz'u dk mÙkj nhft,A
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Sales of XYZ Phones over the years 

Sales of XYZ Phone over the years = fiNys oqQN o"kks± esa XYZ

iQksu dh fcØh

Sales of XYZ Phone = XYZ iQksu dh fcØh] Years = o"kZ
16. Find the percentage increase of sales of XYZ phones

from 2019 to 2020? (Rounded up to 2 decimal places)

2019 ls 2020 rd XYZ iQksu dh fcØh esa izfr'kr òf¼ Kkr dhft,\
(nks n'keyo LFkkuksa rd)

SSC CGL 18/07/2023 (Shift-02)

(a) 122.22 % (b) 110.11%

(c) 119.19 % (d) 121.89 %

Direction (17): A toffee company prepares toffee of two

different flavours X and Y. The production of two flavours over

a period of 4 years is expressed in the bar graph given below.

,d VkWiQh daiuh nks vyx&vyx Ýysoj X vkSj Y dh VkWiQh rS;kj
djrh gSA 4 o"kZ dh vofèk esa nks Ýysoj dk mRiknu uhps fn, x, ckj&xzkiQ
esa n'kkZ;k x;k gSA
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17. What is the difference between the average production

of flavour X in 2017 and 2018 and the average

production of flavour Y in 2019 and 2020.

2017 vkSj 2018 esa Ýysoj X ds vkSlr mRiknu vkSj 2019 vkSj
2020 esa Ýysoj Y ds vkSlr mRiknu ds chp fdruk varj gS\

SSC CGL 18/07/2023 (Shift-03)

(a) 6000 packs (b) 6400 packs

(c) 7500 packs (d) 7000 packs

Direction (18): The given table shows the percentage

of marks obtained by five students in five different

subject in a school.

nh xbZ rkfydk ,d LowQy esa ik¡p vyx&vyx fo"k;ksa esa ik¡p Nk=kksa
}kjk izkIr vadksa ds izfr'kr dks n'kkZrh gSA
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English HindiScience Mathematics Computer

(100) (100) (100) (100) (100)

Hitansh
67 70 64 55 75

Akshara
75 88 95 60 75

Pihu
69 72 89 64 77

Shreya
71 66 80 68 72

Rahul
59 64 59 67 90

vxa zsth foKku xf.kr fgUnh dIa ÕkVw j

fgrk'ak

v{kjk

figq

JÕskk

jkgqy

18. What is Hitansh's overall percentage (rounded up to 2

decimal places) in the examination?

ijh{kk esa fgrka'k dk oqQy izfr'kr (2 n'keyo LFkkuksa rd) fdruk gS\

SSC CGL 18/07/2023 (Shift-03)

(a) 66.22% (b) 64.89%

(c) 65.31% (d) 75.11%

Direction (19): Quantity of various food items used by a
restaurant during 4 months of a year (in kg).

,d jsLrkjka }kjk o"kZ ds 4 eghuksa ds nkSjku mi;ksx dh tkus okyh
fofHkUu [kk| inkFkk±s dh ek=kk (fdyks esa)A

19. What is the average quantity of food item C used
during all the 4 months together?

,d lkFk lHkh 4 eghuksa ds nkSjku mi;ksx fd, x, [kk| inkFkZ C dh
vkSlr ek=kk fdruh gSA

SSC CGL 18/07/2023 (Shift-04)

(a) 303.7 kg (b) 292.5 kg

(c) 211.8 kg (d) 253.6 kg

20. The following figure shows the scores of students in
three tests organised by a coaching institution. Who
scored the best on average?

fuEukafdr vkjs• ,d dksfpax laLFkku }kjk vk;ksftr rhu ijh{kkvksa esa fo|kfFkZ;ksa
ds vadksa dks fu:fir djrk gSA fdlds vkSlr vad lcls vf/d gSa\
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SSC CGL 19/07/2023 (Shift-01)

(a) D (b) C

(c) E (d) B

21. The wages (in `) earned by a labourer in twelve months
of a year are shown in the following bar graph.

fuEukafdr ckj xzkiQ esa ,d Jfed }kjk ,d o"kZ ds ckjg eghuksa esa
vftZr dh xbZ etnwjh (` esa) dks n'kkZ;k x;k gSA
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What is the average wage (in `) received by the
labourer in the first five months of the year?

o"kZ ds igys ikap eghuksa esa Jfed }kjk izkIr vkSlr etnwjh (` esa) D;k gS\

SSC CGL 19/07/2023 (Shift-02)

(a) 9,300 (b) 9,000

(c) 9,100 (d) 9,200

22. The following pie chart shows the annual expenditure
on different items.

fuEufyf•r ikbZ pkVZ fofHkUu enksa ij okf"kZd O;; dks n'kkZrk gSA
What is the minimum angle in the given pie chart?

fn, x, ikbZ pkVZ esa U;wure dks.k fdruk gS\
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SSC CGL 19/07/2023 (Shift-03)

(a) 36° (b) 45°

(c) 32° (d) 30°

23. The number of mobile sim-chards in 4 states/UT are
given in the bar diagram.

4 jkT;ksa@dsUnz 'kkflr izns'kksa esa eksckby fle&dkMZ dh la[;k ckj
vkjs[k esa nh xbZ gSA
Study the diagram and answer the question.

vkjs[k dk vè;;u djsa vkSj iz'u dk mÙkj nsaA
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In Delhi, the ratio of BSNL Sim-cards and Airtel Sim-

cards sold is:

fnYyh esa ch,l,u,y fle&dkMZ vkSj ,;jVsy fle&dkMZ dh fcØh
dk vuqikr &&&& gSA

SSC CGL 19/07/2023 (Shift-03)

(a) 1 : 2 (b) 2 : 1

(c) 3 : 2 (d) 2 : 3

24. The following figure shows the different expenses that are

incurred in manufacturing toys. If the total expenditure

is `3,00,000, then how much expenditure was incurred

on Material Cost and Selling Expenses (in `)?

fuEufyf•r vkÑfr f•ykSuksa ds fuekZ.k esa gksus okys fofHkUu O;; dks
n'kkZrh gSA ;fn dqy O;; `3,00,000 gS] rks lkexzh ykxr vkSj
foØ; O;; (` esa) ij fdruk O;; fd;k x;k\

% Share in total expenditure

Selling 
Expenses

28%

Material
Cost
15%

Labour c
ost

12%

Assembling
cost
20%

Packaging
25%

SSC CGL 19/07/2023 (Shift-04)

(a) 1,20,000 (b) 1,15,000

(c) 1,29,000 (d) 84000

25. Study the given bar graph carefully and answer the

following question.

fn, x, naM vkjs• dk è;kuiwoZd vè;;u dhft, vkSj fuEufyf•r
ç'u dk mÙkj nhft,A

What is the ratio of the number of companies with

more demand than production to the number of

companies with more production than demand?

mRiknu ls vf/d ek¡x okyh daifu;ksa dh la[;k dk] ek¡x ls vf/d
mRiknu okyh daifu;ksa dh la[;k ls vuqikr D;k gS\

5000 
4600     

6000    

3600     

3000  2800    

4000   

4800   

2300  

2900

Demand and Production of Washing Machines
of Five Companies for December 2022

Demand               Production

Companies
P Q R S T

N
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h
in

g 
M

a
ch

in
es

SSC CGL 19/07/2023 (Shift-04)

(a) 3 : 2 (b) 4 : 3

(c) 3 : 5 (d) 2 : 3

26. Study the bar graph carefully and answer the question

that follows.

ckj xzkiQ dk è;kuiwoZd vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The following bar graph shows the sale of Bluetooth

earphones on online market places over the years.

fuEufyf•r ckj xzkiQ fiNys dqN o"kks± esa vkWuykbu cktkj LFkkuksa ij
CywVwFk b;jiQksu dh fcØh dks n'kkZrk gSA

42 
49.7 

64.75 
73.5 

84 
94.5 

0

20

40

60

80

100

2016 2017 2018 2019 2020 2021

Sale of Bluetooth earphones (in lakhs) 

Sale of Bluetooth earphones (in lakhs)

Find the approx, percentage increase in the sale of

earphones from 2017 to 2020.

2017 ls 2020 rd b;jiQksu dh fcØh esa yxHkx çfr'kr òf¼ Kkr dhft,A

SSC CGL 20/07/2023 (Shift-01)

(a) 69% (b) 57%

(c) 78% (d) 71%

27. Study the given pie-chart carefully and answer the

following question. What is the difference between the

funds (in Rs.) acquired by the school from donation

and those from government agencies?

fn, x, ikbZ&pkVZ dk è;kuiwoZd vè;;u dhft, vkSj fuEufyf•r
ç'u dk mÙkj nhft,A Ldwy }kjk nku ls vftZr iQaM vkSj ljdkjh
,tsafl;ksa ls çkIr iQaM (Rs. esa) ds chp fdruk varj gS\

The entire fund the school gets from different sources

is equal to Rs.10 lakh

LowQy dks fofHkUu lzksrksa ls feyus okyk iwjk iaQM Rs.10 yk[k ds
cjkcj gS

Government 
agencies 

12%

NGO's
38%

Donation
35%

Internal
sources
15%

Source of funds in school

P
a
ym

e n
t 

1
1
%

School
maintains 

30%

Reserved
33%

Scholarship
26%

Uses of funds by school

SSC CGL 20/07/2023 (Shift-02)

(a) 2,30,000 (b) 2,50,000

(c) 2,80,000 (d) 2,40,000

28. Study the given bar graph carefully and answer the

following question. The demand of Company P is what

percentage of the demand of Company Q?

fn, x, naM vkjs• dk è;kuiwoZd vè;;u dhft, vkSj fuEufyf•r
ç'u dk mÙkj nhft,A daiuh P dh ek¡x daiuh Q dh ek¡x dk
fdruk çfr'kr gS\
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SSC CGL 20/07/2023 (Shift-02)

(a) 68% (b) 65%

(c) 70% (d) 72%

29. The following pie charts show the data of the number
of appeared and passed students of class 12 in
sections A, B, C, D and E.

fuEu ikbZ pkVZ d{kk 12 ds lsD'ku A, B, C, D vkSj E esa mifLFkr
vkSj mÙkh.kZ Nk=kksa dh la[;k dk MsVk n'kkZrs gSaA

E, 58°

A, 42°

B, 50°

C, 100°
D, 110°

Appeared students = 1800

  

Passed students = 800

20%
10%

15%

25% 30%

What is the percentage of students who appeared for
the exam in section E (correct to one decimal place)?

lsD'ku E esa ijh{kk esa mifLFkr Nk=kksa dk izfr'kr D;k gS (n'keyo
ds ckn ,d vad rd)\

SSC CGL 20/07/2023 (Shift-04)

(a) 29.1% (b) 16.8%

(c) 18.2% (d) 16.1%

30. The following figure shows the percentage growth in
units of fans and coolers sold in some years. What is
the different between the averages of the growth rate
in coolers and fans?

fuEukafdr vkjs• dqN o"kks± esa csps x, ia•ksa vkSj dwyjksa dh bdkb;ksa
esa çfr'kr of̀¼ n'kkZrk gS dwyjksa vkSj ia•ksa dh of̀¼ nj ds vkSlr esa
fdruk varj gS\
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Y
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a
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Percentage growth rate in sales  

Coolers Sold Fans sold

SSC CGL 21/07/2023 (Shift-01)

(a) 34 (b) 30

(c) 32 (d) 42

31. What is the difference between the total production of
Cotton and Khadi ?

dikl vkSj [kknh ds oqQy mRiknu ds eè; fdruk varj gS\

Note: Ignore negative sign, if any

fVIi.kh% Í.kkRed fpUg ij è;ku u nsa] ;fn dksbZ gS] rks
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SSC CGL 21/07/2023 (Shift-01)

(a) 10 (b) 11

(c) 8 (d) 7

32. Study the given table and answer the question that
follows.

nh xbZ rkfydk dk vè;;u dhft, vkSj uhps fn, x, ç'u dk mÙkj nhft,A

The table gives the number of graduate students
enrolled in 4 different colleges A, B, C, and D in a city
over the years 2010 to 2014 and also the number of
students who passed in the final examination during

these years.

;g rkfydk o"kZ 2010 ls 2014 rd fdlh 'kgj ds fofHkUu 4 dkWystksa
A, B, C vkSj D esa ukekafdr Lukrd Nk=kksa dh la[;k n'kkZrh gS]
lkFk gh bu o"kks± ds nkSjku vafre ijh{kk esa mÙkh.kZ gksus okys Nk=kksa dh
la[;k Hkh n'kkZrh gSA

Year 2010 2010 2011 2011 2012 2012 2013 2013 2014 2014

College Enrolled Pass Enrolled Pass Enrolled Pass Enrolled Pass Enrolled Pass

A 680 620 600 560 720 700 800 760 750 700

B 550 530 450 420 600 550 650 620 700 680

C 480 450 520 500 580 550 620 600 720 700

D 710 650 750 710 680 640 720 690 740 710

Find the ratio of the average of students enrolled from

college D to the average of students who passed from
college D over all the years.

lHkh o"kks± ds nkSjku dkWyst D ls ukekafdr Nk=kksa ds vkSlr dk dkWyst
D ls mÙkh.kZ Nk=kksa ds vkSlr ls vuqikr Kkr dhft,A

SSC CGL 21/07/2023 (Shift-03)

(a) 19 : 17 (b) 18 : 17

(c) 21 : 17 (d) 20 : 17

33. Study the given data and answer the question that
follows.

fn, x, vkadM+ksa dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
Data regarding population of different states in the year

2015 is shown in the pie-chart and table.

o"kZ 2015 esa fofHkUu jkT;ksa dh tula[;k ls lacaf/r MsVk ikbZ pkVZ
vkSj rkfydk esa fn•k;k x;k gSA
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T.N
9%

 

A.P
25%

 

M.P
20%  Delhi

8%
 

Goa
12%

 

Bihar
11% 

U.P
15%

 

T.N.

U.P.

Bihar

Goa
Delhi
M.P.

A.P

States

Sex and Literacy-wise 
population Ratio

Sex Literacy
M F Literate Illiterate

5 3 2 7

3 1 1 4
2 3 2 1
3 5 3 2

3 4 4 1

2 7 2

4 9 4

3

3

If the total population of the given states is 31,5000,

then what was the total number of illiterate people in

Goa and M.P.?

;fn fn, x, jkT;ksa dh oqQy tula[;k 31]5000 gS] rks xksok vkSj
eè; izns'k esa fuj{kj yksxksa dh oqQy la[;k fdruh Fkh\

SSC CGL 21/07/2023 (Shift-03)

(a) 65520 (b) 81900

(c) 120500 (d) 90870

34. The given pie-chart shows the marks scored by a

student in different skills in an examination

mathematical ability, verbal ability, reasoning, coding

and puzzle solving. The values are given in degrees.

fn;k x;k ikbZ pkVZ ,d ijh{kk esa fofHkUu dkS'kyksa xf.krh; {kerk]
ekSf•d {kerk] rdZ'kfÙkQ] dwVys•u vkSj igsyh gy djuk esa ,d
Nk=k }kjk çkIr & vadksa dks n'kkZrk gS eku fMxzh esa fn, x, gSaA

Answer the following question. If total marks were 3000,

then what would be the marks in resoning?

fuEufyf•r ç'u dk mÙkj nsaA ;fn dy vad 3000 Fks] rks rdZ'kfÙkQ
esa vad D;k gksaxs\

Puzzle

100°

Mathematics

Verbal

65°Reasoning

75°

Coding

45°

75°

SSC CGL 21/07/2023 (Shift-04)

(a) 375 (b) 833

(c) 625 (d) 541

35. Study the given graph carefully and answer the

question that follows.

fn, x, xzkiQ dk è;kuiwoZd vè;;u dhft, vkSj uhps fn, x, ç'u
ds mÙkj nhft,A
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The decrease in imports in 1971 was what percentage

of the imports in 1970 (rounded off to the nearest

integer) ?

1971 esa vk;kr esa deh] 1970 esa vk;kr dk fdruk çfr'kr Fkh (fudVre
iw.kkZad rd)\

SSC CGL 21/07/2023 (Shift-04)

(a) 54% (b) 56%

(c) 52% (d) 53%

36. Study the given data and answer the question that

follows.

fn, x, MsVk dk vè;;u dhft, vkSj uhps fn, x, ç'u dk
mÙkj nhft,A

The data shows the number of candidates (in

thousand) appearing for Civil Service (CS) and

Engineering Service (ES) Examinations in the years

2020 2021, 2022 in USA.

MsVk] ;w,l, (USA) esa o"kZ 2020 2021 2022 esa flfoy lsok
(CS) vkSj bathfu;fjax lsok (ES) ijh{kkvksa ds fy, mifLFkr gksus
okys mEehnokjksa dh la[;k (gtkj esa) n'kkZrk gSA

Year 

Civil Service Engineering Service 

Total No. of 
Candidates 
Appeared 

Graduates out of 
the total 

candidates 
appeared (in %) 

Total No. of 
Candidates 
Appeared 

Graduates out of 
the total 

candidates 
appeared (in %) 

2020 75 60 89 57 
2021 110 64 118 65 
2022 120 80 135 78 

 
What is total number of graduates who appeared for

both CS and ES together in the year 2022?

o"kZ 2022 esa CS vkSj ES nksuksa ds fy, mifLFkr gq, Lukrdksa
dh dqy la[;k fdruh gS\

SSC CPO 03/10/2023 (Shift-01)

(a) 2,01,000 (b) 2,01,200

(c) 2,01,100 (d) 2,01,300

37. Study the given data and answer the question that

follows.

fn, x, MsVk dk vè;;u dhft, vkSj uhps fn, x, ç'u dk
mÙkj nhft,A



Data Interpretation

M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

Join Telegram- Maths by  Aditya Ranjan

Aditya Ranjan (Excise Inspector) Selected gS Selection fnyk,axs   9

The tables shows the number of candidates (in lakh)

appearing in an entrance exam from four different

cities and the ratio of candidates passing and failing

in the same.

rkfydk pkj vyx&vyx 'kgjksa ls ,d ços'k ijh{kk esa mifLFkr
gksus okys mEehnokjksa dh la[;k (yk• esa) vkSj mlesa mÙkh.kZ vkSj
vuqÙkh.kZ gq, mEehnokjksa dk vuqikr n'kkZrh gSA

City A B C D 

Number of candidates 2.15 1.14 1.56 2.35 

Ratio of candidates passing and failing within the city.

'kgj ds Hkhrj mÙkh.kZ vkSj vuqrh.kZ gq, mEehnokjksa dk vuqikr

City Passing Failing 

A 4 2 

B 5 3 

C 6 4 

D 4 6 

What is the number of failed candidates (in lakh) in

city D?

D 'kgj esa vuqÙkh.kZ gq, mEehnokjksa dh la[;k (yk[k esa) fdruh gS\

SSC CPO 03/10/2023 (Shift-01)

(a) 1.70 (b) 1.85

(c) 1.25 (d) 1.41

38. The following table represents the population of four

different areas and the percentage of males, females,

and children P among them.

fuEu rkfydk pkj vyx&vyx {ks=kks a dh tula[;k vkSj muesa ls
iq#"k] efgykvksa ,oa cPpksa dk çfr'kr n'kkZrh gSA

Area Population Males Females Children 

P 10,000 40% 40% 20% 

Q 20,000 30% 40% 30% 

R 16,000 50% 30% 20% 

S 18,000 45% 35% 20% 

What is the total number of children in areas P and

Q together?

{ks=k P vkSj Q feykdj cPpksa dh dqy la[;k fdruh gS\

SSC CPO 03/10/2023 (Shift-01)

(a) 7000 (b) 6000

(c) 8000 (d) 9000

39. Study the given bar-graph and answer the question

that follows.

fn, x, naM vkjs• dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The bar-graph shows the higher secondary students

of a school for the years 2008, 2009 and 2010.

uhps fn, x, naM vkjs• esa ,d Ldwy ds o"kZ 2008] 2009 vkSj
2010 ds mPp ekè;fed fo|kfFkZ;ksa dks fn•k;k x;k gSA
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The percentage of students who passed in the second

division in the year 2010 was:

o"kZ 2010 esa f}rh; Js.kh esa mÙkh.kZ gksus okys fo|kfFkZ;ksa dk çfr'kr
fdruk Fkk\

SSC CPO 03/10/2023 (Shift-01)

(a) 28% (b) 32%

(c) 25% (d) 30%

40. What is the central corresponding to the expenditure

spent on Education in the given figure?

fn, x, ikbZ pkVZ esa f'k{kk ij [kpZ fd, x, O;; dk laxr
dsaæh; dks.k D;k gS\

Clothing
6125

Travelling
7525

Food
6475

Education
5425

Health
5250

Rent
4200

SSC CPO 03/10/2023 (Shift-01)

(a) 42° (b) 52°

(c) 55.2° (d) 55.8°

41. The given pie-chart shows the distribution of the

marks scored by Ram in five different subjects (in

percentage).

fn;k x;k ikbZ&pkVZ ikap vyx&vyx fo"k;ksa esa jke }kjk çkIr
vadksa dk forj.k (çfr'kr esa) n'kkZrk gSA

Hindi
15.50%

English
22.50%

Maths
20%

Science 
30%

Social
12%
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What is the ratio of the central angle of Maths of the

central angle of Science?

xf.kr ds dsUæh; dks.k dk foKku ds dsUæh; dks.k ls vuqikr
fdruk gS\

SSC CPO 03/10/2023 (Shift-01)

(a) 5 : 2 (b) 2 : 3

(c) 4 : 3 (d) 3 : 5

42. Study the given graph carefully and answer the

question that follows.

fn, x, xzkiQ dk è;kuiwoZd vè;;u dhft,] vkSj fuEufyf[kr
iz'u dk mÙkj nhft,A
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In which year was there maximum percentage increase

in the export of apples to that of the previous years?

fdl o"kZ lsc ds fu;kZr esa fiNYks o"kZ lsc ds fu;kZr dh rqyuk
esa vf/dre izfr'kr o`f¼ gqbZ\

SSC CPO 03/10/2023 (Shift-01)

(a) 2006 (b) 2005

(c) 2003 (d) 2008

43. Darjeeling gets tourists from two countries A and B.

Percentage wise distribution of the influx of tourists

is given below for the first six months of the year.

nkftZfyax esa nks ns'kksa A vkSj B ls i;ZVd vkrs gSaA o"kZ ds igys
Ng eghuksa esa i;ZVdksa ds vkxeu dk çfr'kr okj forj.k uhps
fn;k x;k gSA

Total number of tourists = 60000 
Month Ratio (A : B) 

Jan 5 : 7 
Feb 6 : 7 
Mar 3 : 2 
April 8 : 7 
May 4 : 5 
June 3 : 4 

Jan
5%

March
20%

April
25%

May
30%

June
10% Feb

10%

Find the ratio of tourists from country A coming in

During March and April.

ekpZ vkSj vçSy ekg ds nkSjku ns'k A ls vkus okys i;ZVdksa dh
la[;k dk vuqikr Kkr dhft,A

SSC CPO 03/10/2023 (Shift-01)

(a) 7 : 10 (b) 9 : 10

(c) 3 : 7 (d) 4 : 7

44. The following data gives a year-wise outlay (in lakhs

of rupees) in a certain 4-year plan (2018-2022)

of a state

fuEu vk¡dM+s ,d jkT; dh ,d fuf'pr 4 o"khZ; ;kstuk (2018&2022)
esa o"kZ& okj ifjO;; (yk• #i;s esa) çnku djrs gSaA

Year Health Housing Transport Education 

2018-2019 6200 6500 7100 8000 

2019-2020 7000 6600 7200 8100 

2020-2021 7300 6800 7400 8200 

2021-2022 7400 7000 7500 8400 

What was the percentage increase during 2020-2021

over 2018-2019 in Education outlay?

f'k{kk ifjO;; esa 2018&2019 dh rqyuk esa 2020&2021 ds nkSjku
çfr'kr o`f¼ fdruh Fkh\

SSC CPO 03/10/2023 (Shift-01)

(a) 2.8% (b) 2.5%

(c) 3.2% (d) 2.0%

45. The table given below shows the number of products

sold by 4 shopkeepers A, B, C and D on four

different days.

fuEu rkfydk 4 vyx&vyx laLFkkvksa A, B, C vkSj D esa fofHkUu
foHkkxksa esa deZpkfj;ksa dh la[;k dks n'kkZrh gSA

Days/Person A B C D 

Monday 1000 800 – 750 

Tuesday 500 – 900 650 

Wednesday 800 1000 700 – 

Thursday – 1200 800 900 

If the total products sold by A and B, including all

four days, is 3000 and 3500, respectively, the

products sold by B on Tuesday is how many more

or less than the products sold by A on Thursday?

;fn lHkh pkj fnuks a dks feykdj A vkSj B }kjk csps x, dqy
mRikn Øe'k% 3000 vkSj 3500 gSa] rks B }kjk eaxyokj dks csps
x, mRikn A }kjk xq#okj dks csps x, mRiknks a ls fdrus vf/d
;k de gSa\

SSC CPO 03/10/2023 (Shift-02)

(a) 200 less (b) 300 more

(c) 300 more (d) 300 less

46. Study The the given pie-chart and answer the question

that follows.

fn, x, ikbZ pkVZ dk vè;;u dhft, vkSj fuEufyf•r ç'u dk
mÙkj nhft,A
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Pie-chart shows the National Budget Expenditure in

the year 2019.

ikbZ pkVZ] o"kZ 2019 esa jk"Vªh; ctV O;; dks n'kkZrk gSA

Military
62%

Others
20%

International
12%

Interest 
on

debt 6
%

Percentage Distribution

If Rs. 850 billion were spent in year 2019 for interest

on debt and military, then what would have been the

total expenditure for that year (in Rs.billion)?

;fn o"kZ 2019 esa ½.k ij C;kt vkSj lsuk ds fy, 850#- fcfy;u
•pZ fd, x, gksrs] rks ml o"kZ ds fy, dqy O;; (#- fcfy;u esa)
fdruk gksrk \

SSC CPO 03/10/2023 (Shift-02)

(a) 1,450 (b) 1,300

(c) 1,700 (d) 1,250

47. Study the given pie-chart and answer the question

that follows.

fn, x, ikbZ&pkVZ dk vè;;u djsa] vkSj fuEufyf•r ç'u dk mÙkj
nsaA

The pie-chart shows the percentage of 3600 students

enrolled in different hobby classes in a school

fuEu ikbZ&pkVZ ,d Ldwy esa fofHkUu gkWch d{kkvksa esa ukekafdr
3600 fo|kfFkZ;ksa ds çfr'kr dks n'kkZrk gSA

Singing
18%

Cooking
22%

Drama
13%Painting

15%

Dancing21%

Stitching
11%

The number of students enrolled in Painting classes is

approximately what percentage of those enrolled in

Singing classes?

isafVax d{kkvksa esa ukekafdr fo|kfFkZ;ksa dh la[;k] flafxax d{kkvksa esa
ukekafdr fo|kfFkZ;ksa dh la[;k ds yxHkx fdrus çfr'kr ds cjkcj gS\

SSC CPO 03/10/2023 (Shift-02)

(a) 108% (b) 83%

(c) 98% (d) 78%

48. Study the given table and answer the question that
follows.

nh xbZ rkfydk dk vè;;u dhft, vkSj mlds ckn fn, x, iz'u
dk mÙkj nhft,A
The table shows the number of students doing various
courses in various cities.

rkfydk fofHkUu 'kgjksa esa fofHkUu dkslZ djus okys fo|k£Fk;ksa dh
la[;k n'kkZrh gSA

City MBA MCA M.Sc. M.Com. M.A. Total 
Ahmedabad 1234 1384 1440 1289 1332 6679 

Bengaluru 1156 1783 1874 1003 1340 7156 
Bhopal 1187 1347 1532 1321 1486 6873 
Chennai 1342 1473 1129 1765 1666 7375 
New Delhi 1230 1098 1128 1865 1777 7098 
Hyderabad 1456 1234 1556 1653 1789 7688 
Kolkata 1239 1785 1865 1504 1762 8155 

 
In Chennai, the number of students in MBA is nearly
what percentage of students in M.A? (rounded off to
2 digits after decimal)

psUubZ esa]  MBA esa Nk=kksa dh la[;k M,A esa Nk=kks a dh la[;k dk
yxHkx fdruk çfr'kr gS\ (n'keyo ds ckn 2 vadksa rd iw.kkZafdr)

SSC CPO 03/10/2023 (Shift-02)

(a) 92.12% (b) 80.55%
(c) 76.25% (d) 99.23%

49. The given table shows marks obtained by four
students in four subjects.

nh xbZ rkfydk pkj Nk=kksa }kjk fo"k;ksa esa izkIr vadksa dks n'kkZrh gSA

Subjects 
Student 

Maths 
(100) 

English 
(100) 

Sciece 
(100) 

Hindi 
(100) 

A 75 80 75 85 

B 80 70 70 80 

C 70 85 85 75 

D 85 75 80 70 

The average percentage of marks obtained by all
students in Hindi is:

lHkh Nk=kksa }kjk fganh esa izkIr vadksa dk vkSlr izfr'kr fdruk gS\

SSC CPO 03/10/2023 (Shift-02)

(a) 77.6% (b) 77.5%
(c) 77.0% (d) 77.8%

50. Study the given pie-chart and answer the question
that follows.

fn, x, ikbZ&pkVZ dk vè;;u dhft, vkSj fuEufyf[kr iz'u dk
mÙkj nhft,A
The pie-chart shows total expenditure of `3,00,00,000
on different items for constructing a flat in a town.

ikbZ&pkVZ] ,d dLcs esa ,d ÝysV ds fuekZ.k ds fy, fofHkUu
enksa ij `3,00,00,000 ds dqy O;; dks n'kkZrk gSA

Tiles
35° Steel

55°

Labour
65°Cement

70°

Timber
45°

Bricks
90°
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The percentage of the total expenditure on Labour
and Timber is:

Je vkSj bekjrh ydM+h ij dqy O;; dk izfr'kr Kkr dhft,A

SSC CPO 03/10/2023 (Shift-02)

(a)
5

30 %
9

(b)
1

30 %
9

(c)
1

30 %
3

(d)
7

30 %
9

Direction: (16-17): Study the given table and answer
the question that follows.

nh xbZ rkfydk dk vè;;u dhft,] vkSj uhps fn, x, iz'u dk
mÙkj nhft,A
The table shows the production of five types of cars P, Q,
R, S and T by a company from the year 1989 to 1994.

nh xbZ rkfydk ,d daiuh }kjk o"kZ 1989 ls 1994 rd ik¡p çdkj dh
dkjksa P, Q, R, S vkSj T ds mRiknu dks n'kkZrh gSA

Type of Car 1989 1990 1991 1992 1993 1994 Total 
P 8 20 16 17 21 6 88 
Q 16 10 14 12 12 14 78 
R 21 17 16 15 13 8 90 
S 4 6 10 16 20 31 87 
T 25 18 19 30 14 27 133 
Total 74 71 75 90 80 86 476 

 
51. During the period 1989-94, which type of car featured

a continuous increase in production?

1989&94 dh vof/ ds nkSjku] fdl izdkj dh dkj ds mRiknu
esa yxkrkj c<+ksÙkjh gqbZ gS\

SSC CPO 03/10/2023 (Shift-02)

(a) S (b) P

(c) Q (d) R

52. During the period 1989-94, which type of car featured
a continuous decrease in production?

1989&94 dh vof/ ds nkSjku] fdl izdkj dh dkj ds mRiknu
esa yxkrkj deh gqbZ gS\

SSC CPO 03/10/2023 (Shift-02)

(a) R (b) T

(c) Q (d) S

53. Study the given table and answer the question that
follows.

nh xbZ rkfydk dk vè;;u dhft, vkSj uhps fn, x, iz'u dk
mÙkj nhft,A
The table shows the number of cakes sold by four
different bakeries months. 4 different

rkfydk 4 vyx&vyx eghuksa esa pkj vyx&vyx csdfj;ksa }kjk
csps x, dsd dh la[;k n'kkZrh gSA

Month 
Bakery 

August September October November 

P 250 241 213 168 

Q 175 189 201 122 

R 164 145 129 168 

S 224 154 184 209 

What is the difference between the total number of

cakes sold by bakeries Q and S together in September

and the total number of cakes sold by bakeries P and

R together in November?

flracj esa csdjh Q vkSj S }kjk ,dlkFk feykdj csps x, dsd
dh dqy la[;k vkSj uoacj esa csdjh P vkSj R }kjk ,dlkFk
feykdj csps x, dsd dh dqy la[;k ds chp fdruk varj gS\

SSC CPO 03/10/2023 (Shift-02)

(a) 9 (b) 10

(c) 7 (d) 8

54. The following table shows the percentage of students
passing out of four colleges (A, B, C and D) over four
years. Study the table and answer the question that
follows.

fuEufyf•r rkfydk pkj o"kks± esa pkj dkWystksa (A, B, C vkSj D)
ls mÙkh.kZ gksus okys Nk=kksa dk çfr'kr n'kkZrh gSA rkfydk dk vè;;u
djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

College College College College
Years

    A     B     C     D

2019 68 78 56 78

2020 72 86 78 82

2021 78 91 82 85

2022 80 87 84 87

In which colleges is the average percentage of passing

students over the given four years the least?

fn, x, pkj o"kks± esa fdl dkWyst esa mÙkh.kZ Nk=kksa dk vkSlr çfr'kr
lcls de gS\

SSC CPO 03.10.2023 (Shift-3)

(a) College D (b) College A

(c) College B (d) College C

55. The following table shows the earning of different firms

(in Rs. crore) in different years.

fuEu rkfydk fofHkUu o"kks± esa fofHkUu iQeks± dh dekbZ (djksM+ #i;s
esa) n'kkZrh gSA

Year 
Firm 

2012 2013 2014 2015 2016 

P 50 45 49 56 57 

Q 46 48 50 55 62 

R 70 65 63 68 73 

S 38 47 56 60 69 

 
The earning (in Rs. crore) of which firm was highest
in the year 2015?

o"kZ 2015 esa fdl iQeZ dh dekbZ (djksM+ #i;s esa) lcls vf/d Fkh\

SSC CPO 03.10.2023 (Shift-3)

(a) S (b) Q

(c) R (d) P

56. Study the given table and answer the question that
follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The table shows the consumption of food grains per

day (in grams) in the given set of following years.

rkfydk fuEufyf•r o"kks± ds fn, x, lsV esa çfr fnu •k|kUu dh
•ir (xzke esa) n'kkZrh gSA
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Coarse
Year Rice Wheat Pulses

grains

1960 62 161 62 131 61

1970 72 197 81 116 64

1980 82 187 116 103 46

1990 92 189 124 101 44

2000 02 201 137 86 64











For which food grain consumption was there
successive increase over the given set of years?

fn, x, o"kks± esa fdl •k|kUu dh •ir esa yxkrkj of̀¼ gqbZ\

SSC CPO 03.10.2023 (Shift-3)

(a) Wheat (b) Pulsesa

(c) Rice (d) Coarse grains

57. Study the given pie-chart and answer the question
that follows.

fn, x, ikbZ&pkVZ dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
The pie-chart shows the expenditure of a family on
different items and their savings throughout the year
2021.

ikbZ&pkVZ o"kZ 2021 ds nkSjku fofHkUu enksa ij ,d ifjokj ds •pZ
vkSj mudh cpr dks n'kkZrk gSA

Education

of Children

12%Food
23%

Transport

5%Other
 20%

C
lo

th
in

g
5

%

Housing
    15%

Savings
    15%

If the total income of the family was Rs.1,00,000, how
much money (in Rs.) was spent on the education of
the children?

;fn ifjokj dh dqy vk; 1]00]000 #i;s Fkh] rks cPpksa dh f'k{kk
ij fdruk iSlk (#i;s esa) •pZ fd;k x;k\

SSC CPO 03.10.2023 (Shift-3)

(a) 13,500 (b) 13,000

(c) 12,000 (d) 12,500

58. Study the given graph and answer the following
question.

fn, x, xzkiQ dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
Number of boys and girls students in each section.

çR;sd vuqHkkx esa yM+ds vkSj yM+fd;ksa dh la[;kA
100
90
80
70
60
50
40
30
20
10
0

A B C D E
SECTION

Number of boys Number of Girls

S
T
U

D
E

N
T
S

The number of boy students in section B is

approximately what percentage of the number of girl

students in section E?

lsD'ku B esa yM+dksa dh la[;k] lsD'ku E esa yM+fd;ksa dh la[;k dk
yxHkx fdruk çfr'kr gS\

SSC CPO 03.10.2023 (Shift-3)

(a) 25% (b) 45%

(c) 55% (d) 15%

59. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The table shows the number of pages printed by four

printers in three days.

rkfydk rhu fnuksa esa pkj fçaVjksa }kjk eqfær i`"Bksa dh la[;k n'kkZrh gSA

   Days Printers 

A B C D 

Friday 350 451 412 206 

Saturday 420 325 365 251 

Sunday 238 198 258 326 

 
What is the respective ratio between total number of

pages printed by printer D on Friday and Sunday

together and total number of pages printed by printer

A on Friday and Saturday together?

'kqØokj vkSj jfookj dks fçaVj D }kjk eqfær i`"Bksa dh dqy la[;k
vkSj 'kqØokj vkSj 'kfuokj dks fçaVj A }kjk eqfær i`"Bksa dh dqy
la[;k ds chp lacaf/r vuqikr D;k gS\

SSC CPO 03.10.2023 (Shift-3)

(a) 51 : 34 (b) 34 : 51

(c) 55 : 38 (d) 38 : 55

60. Study the given pie-chart and answer the question

that follows.

fn, x, ikbZ&pkVZ dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The pie-chart is about Country-wise Global Exports

Presentation.

ikbZ&pkVZ ns'k&okj oSf'od fu;kZr çLrqfr ds ckjs esa gSA

USA, 96°

India, 
55°UK, 125°

Australia, 
75°

Spain, 9°

Total Export = Rs.14400 billion

By how much does the value of the exports of UK

exceed that of  Australia (in Rs. billion)?
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;wds ds fu;kZr dk ewY; vkWLVªsfy;k ds fu;kZr dk ewY; (vjcksa #i;s
esa) fdruk vf/d gS\

SSC CPO 03.10.2023 (Shift-3)

(a) 2,000 (b) 1,440

(c) 2,550 (d) 1,500

61. Study the given table and answer the question that
follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The table shows the number of employees in five
different organisations A, B, C, D and E in different
departments.

rkfydk ikap vyx&vyx laxBuksa A, B, C, D vkSj E esa fofHkUu
foHkkxksa esa deZpkfj;ksa dh la[;k n'kkZrh gSA

Dept
A B C D E

Org

HR 1050 1015 976 888 1004

Finance 1017 960 786 1025 963

Marketing 1382 1384 1275 1300 1290

Production 1542 1545 4550 1570 1580

Accounts 786 745 801 800 735

Legal 48 54 36 30 53

Total 5825 5703 5424 5613 5625





Which organisation has minimum number of

employees?

fdl laxBu esa deZpkfj;ksa dh la[;k U;wure gS\

SSC CPO 03.10.2023 (Shift-3)

(a) D (b) B

(c) C (d) E

62. Study the given pie-chart and answer the question
that follows.

fn, x, ikbZ&pkVZ dk vè;;u dhft, vkSj fuEufyf[kr iz'u dk
mÙkj nhft,A

The pie-chart shows the number of students (boys
and girls) studying in standard 10 of various schools
(X, Y, Z in the year 2022).

ikbZ&pkVZ] o"kZ 2022 esa fofHkUu Ldwyksa (X, Y, Z) ds d{kk 10 esa
i<+us okys Nk=kksa (yM+ds vkSj yfM+fd;k¡) dh la[;k dks n'kkZrk gSA

Total Number of Students (Boys and Girls) = 3600

Nk=kksa dh dqy la[;k (yM+ds vkSj yM+fd;ka) = 3600

   Z
25%

  X
45%

   Y
30%

What is the difference between the total number of

students (boys and girls) in school Y and Z together

and the total number of students (boys and girls) in

school X and Y together?

Ldwy Y vkSj Z esa ,d lkFk feykdj Nk=kksa (yM+dksa vkSj yM+fd;ksa)
dh dqy la[;k vkSj Ldwy X vkSj Y esa ,d lkFk feykdj Nk=kksa
(yM+dksa vkSj yM+fd;ksa) dh dqy la[;k ds chp fdruk varj gS\

SSC CPO 04/10/2023 (Shift-01)

(a) 720 (b) 780

(c) 820 (d) 840

63. The following table shows the mobile-addicted

population of four different cities Hyderabad, Mumbai,

Chennai, and Pune, and the ratio of males to females

among them.

fuEu rkfydk pkj vyx&vyx 'kgjksa gSnjkckn] eqacbZ] psUubZ vkSj
iq.ks dh eksckby&O;luh tula[;k vkSj muds chp iq#"kksa ,oa efgykvksa
dk vuqikr n'kkZrh gSA

City Mobile-Addicted population  Male : Female 
Hyderabad 2,20,000   7    :    8 
Mumbai 3,50,000  

Chennai 2,00,000 11 :    9 
Pune 1,50,000   9    :   11 

 Find the total number of addicted males in Chennai.

psUubZ esa O;luh iq#"kksa dh dqy la[;k Kkr djsaA

SSC CPO 04/10/2023 (Shift-01)

(a) 1,20,000 (b) 1,00,000

(c) 80,0000 (d) 1,10,000

64. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u dhft,] vkSj uhps fn, x, iz'u dk
mÙkj nhft,A
The data given in the table is for the month of

December 2022.

fuEu rkfydk esa fn;k x;k MsVk fnlEcj 2022 eghusa ds fy, gS
Company Total no. of employees  No. of female employees
P 4560 2210 

Q 4258 1650 
R 3052 1280 
S 4350 1920 

 
What is the difference between the number of male

employees in company P and that in company R?

daiuh P esa iq#"k deZpkfj;ksa dh la[;k] vkSj daiuh R esa iq#"k
deZpkfj;ksa dh la[;k ds chp dk varj fdruk gS\

SSC CPO 04/10/2023 (Shift-01)

(a) 605 (b) 580

(c) 578 (d) 592

65. Study the given graph and answer the question that follows.

fn, x, xzkiQ dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The given graph represents the percentage of books

on different subjects that a person has in his library.

fn;k x;k xzkiQ ,d O;fÙkQ ds iqLrdky; esa fofHkUu fo"k;ksa ij
iqLrdksa dk çfr'kr n'kkZrk gSA
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Percentage distribution of books on different subjects

fofHkUu fo"k;ksa ij iqLrdksa dk çfr'kr forj.k

             

 C1
10%

 C2
20%

 C3
30%

 C4
 40%

If the total number of books is 60, then what is the

ratio of the number of books on subject C1 to the

average number of books per subject?

;fn iqLrdksa dh dqy la[;k 60 gS] rks fo"k; C1 ij iqLrdksa dh
la[;k dk çfr fo"k; iqLrdksa dh vkSlr la[;k ls vuqikr D;k gS\

SSC CPO 04/10/2023 (Shift-01)

(a) 3 : 5 (b) 2 : 5

(c) 2 : 3 (d) 3 : 7

66. The table below shows the number of students

commuting to school by different modes of transport:

uhps nh xbZ rkfydk ifjogu ds fofHkUu lk/uksa }kjk Ldwy vkus
okys fo|k£Fk;ksa dh la[;k dks n'kkZrh gS%

Modes of transport School bus Bicycle Walking Other vehicles
No. of boys 80 280 130 200 

No. of girls 140 190 90 250 

 
Which mode of transport is used by maximum number

of students?

fo|k£Fk;ksa dh vf/dre la[;k }kjk ifjogu ds fdl lk/u dk
mi;ksx fd;k tkrk gS\

SSC CPO 04/10/2023 (Shift-01)

(a) School bus (b) Other vehicles

(c) Bicycle (d) Walking

67. The given table shows the number of students from

4 schools during 2022-2023.

nh xbZ rkfydk 2022&2023 ds nkSjku 4 Ldwyksa ds fo|k£Fk;ksa dh
la[;k dks n'kkZrh gSA

Schools  Total no. of students  Boys  Girls  

A 2060 1339 721 
B 1880 1034 846 
C 2200 990 1210 
D 1680 924 756 

 What is the percentage of girls in school B?

Ldwy B esa yM+fd;ksa dk çfr'kr fdruk gS\

SSC CPO 04/10/2023 (Shift-01)

(a) 60% (b) 55%

(c) 45% (d) 65%

68. The sales of batteries (in lakhs) manufactured by a

company over the years are shown in the given table.

,d daiuh }kjk foxr dqN o"kks± esa fu£er cSVfj;ksa dh fcØh
(yk[k esa) nh xbZ rkfydk esa n'kkZbZ xbZ gSA

Year  
Types of Batteries 

4AH 7AH 35AH 55AH 
1992 75 144 102 108 
1993 90 126 84 126 
1994 96 114 105 135 
1995 105 90 90 75 
1996 90 75 75 90 
1997 105 60 45 120 
1998 115 85 100 145 

 

32AH 

114 
102 
75 

150 
135 

165 
160 

55AH 
108 
126 
135 
75 
90 
120 
145 

Total 
543 
528 
525 
510 
465 
495 
605 

Which type of battery had the highest total sales over

the last seven years?

fiNys lkr o"kZ esa fdl izdkj dh cSVjh dh dqy fcØh lcls
vf/d Fkh\

SSC CPO 04/10/2023 (Shift-01)

(a) 4 AH (b) 55 AH

(c) 32 AH (d) 35 AH

69. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u djsa] vkSj uhps fn, x, ç'u dk mÙkj nsaA

The table shows the number of students studying in

6 different classes of 6 different schools.

fuEu rkfydk 6 vyx&vyx Ldwyksa dh 6 vyx&vyx d{kkvksa
esa i<+us okys fo|kfFkZ;ksa dh la[;k dks n'kkZrh gSA

Schools  VI 

P 160 
Q 166 
R 152 
S 142 
T 144 
U 160 

Total  924 

V 
152 

148 
161 
159 
147 
150 
917 

VII  

145 

150 
140 
149 
158 
162 
904 

VIII  

156 

155 
145 
140 
163 
160 
919 

IX  

147 

157 
143 
142 
154 
160 
903 

X 

144 
143 
165 
168 
150 
140 
910 

Which class has the maximum number of students
from all schools together?

lHkh Ldwyksa esa feykdj fdl d{kk esa fo|k£Fk;ksa dh la[;k lokZf/d gS\

SSC CPO 04/10/2023 (Shift-01)

(a) V (b) VI

(c) VII (d) X

70. The pie chart I given below shows the runs scored

by a player against 6 different countries during

2019-2020.

uhps fn, x, ikbZ pkVZ 1 esa fdlh f•ykM+h }kjk o"kZ 2019&2020
ds nkSjku 6 vyx&vyx ns'kk s a ds fo#¼ cuk, x, juk s a dks
n'kk Z;k x;k gSA

Pie chart 2 shows the runs scored by the same player

against the same 6 countries during 2020-2021

ikbZ pkVZ 2 esa mlh f•ykM+h }kjk o"kZ 2020&2021 ds nkSjku mUgha
6 ns'kks a ds fo#¼ cuk, x, juksa dks n'kkZ;k x;k gSA

Total runs scored during 2019-2020 = 4000.

2019&2020 ds nkSjku cuk, x, dqy ju ¾ 4000
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   New 
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Pa
ki

st
an
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6%

Total runs scored during 2020-2021 = 5000

2020-2021 ds nkSjku cuk, x, dqy ju = 5000
S

o
u

th
 A

fr
ic

a
  

  
 1

6
%

Australia
    12%

England
   22%Sri Lanka

     20%

   New 
zealand
   15%

Pa
k
is
ta

n

   
 1

5%

Find the difference between the total runs scored
against New Zealand and Pakistan during 2019-2020
and the total runs scored against Sri Lanka and
Pakistan during 2020-2021.

o"kZ 2019&2020 ds nkSjku U;wthySaM vkSj ikfdLrku ds fo#¼ cuk,
x, dqy juksa vkSj o"kZ 2020&2021 ds nkSjku Jhyadk vkSj ikfdLrku
ds fo#¼ cuk, x, juksa ds chp esa varj Kkr dhft,A

SSC CPO 04/10/2023 (Shift-01)

(a) 650 (b) 600
(c) 550 (d) 500

71. Study the given pie-chart and answer the question
that follows.

fn, x, ikbZ&pkVZ dk vè;;u djsa] vkSj fuEufyf•r ç'u dk mÙkj nsaA
The pie-chart shows the sale of different fruits in a
shop in a day.

fuEu ikbZ&pkVZ ,d nqdku esa ,d fnu esa fofHkUu iQyksa dh fcØh
dks n'kkZrk gSA

30%

10%

25%

15%

20%

Others
Banana

Grapes

Apple

Orange

If a total of 1200 kg of fruits were sold in a day,

calculate the amount of bananas sold (in kg).

;fn ,d fnu esa dqy 1200 kg iQy csps x,] rks csps x, dsyksa
dh ek=kk (kg esa) dh x.kuk dhft,A

SSC CPO 04/10/2023 (Shift-02)

(a) 260 (b) 330

(c) 360 (d) 290

72. Study the given pie-chart and answer the question

that follows.

fn, x, ikbZ pkVZ dk vè;;u dhft, vkSj fuEufyf•r ç'u dk
mÙkj nhft,A

The pie-chart shows the number of boys studying in

play group of various schools (A, B, C).

ikbZ pkVZ] fofHkUu Ldwyksa (A, B, C) ds Iys xzqi esa i<+us okys
yM+dksa dh la[;k dks n'kkZrk gSA

Total number of boys = 2000

yM+dksa dh dqy la[;k = 2000

A
13%

B
32%

C
55%

What is the average number of boys studying in

schools A and C?

Ldwy A vkSj C esa i<+us okys yM+dksa dh vkSlr la[;k fdruh gS\

SSC CPO 04/10/2023 (Shift-02)

(a) 580 (b) 680

(c) 920 (d) 740

73. The table below shows the production of jute fabric

(in lakh metre) by two Companies P and Q during

2001 to 2005.

uhps nh xbZ rkfydk 2001 ls 2005 ds nkSjku nks daifu;ksa P vkSj
Q }kjk fd, x, twV ds diM+s ds mRiknu (yk• ehVj esa) dks
n'kkZrh gSA

Year  Company P  Company Q  
2001 100 96 
2002 120 130 

2003 108 100 
2004 190 180 
2005 240 275 

 
In which year/years, did Company Q produce more

fabric than Company P?

fdl o"kZ@lky esa daiuh Q us daiuh P dh rqyuk esa vf/d
diM+s dk mRiknu fd;k\

SSC CPO 04/10/2023 (Shift-02)

(a) 2002, 2005 (b) 2003, 2005

(c) 2005 (d) 2002

74. The following table shows the number of mobile phones

sold by four different stores in four different years.

fuEu rkfydk pkj vyx&vyx o"kks± esa pkj vyx&vyx LVksj
}kjk csps x, eksckby iQksu dh la[;k dks n'kkZrh gSA
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Stores  2012  2013  2014  2015  
P 178 183 205 225 
Q 133 198 220 235 
R 284 250 220 198 
S 225 243 199 205 

 

   

Find the difference between the number of mobile

phones sold by store Q in 2013 and store S in 2015.

2013 esa LVksj Q }kjk csps x, eksckby iQksu dh la[;k] vkSj
2015 esa LVksj S }kjk csps x, eksckby iQksu dh la[;k ds chp
dk varj Kkr djsaA

SSC CPO 04/10/2023 (Shift-02)

(a) 7 (b) 8

(c) 12 (d) 10

75. The number of hours spent by a student on different

activities as shown in the following pie chart:

fuEu ikbZ pkVZ esa ,d Nk=k }kjk fofHkUu xfrfof/;ksa esa fcrk, x,
?kaVksa dh la[;k dks fn•k;k x;k gS%

2

6

5

3

8

Hom
e 

W
or

k

Play

Sleep

O
th

ers School

Number of hours

The central angle corresponding to the sleeping time

is what percentage of the whole central angle?

lksus ds le; dk laxr dsaæh; dks.k] iwjs dsaæh; dks.k dk fdruk
çfr'kr gS\

SSC CPO 04/10/2023 (Shift-02)

(a) 33.33% (b) 50%

(c) 55% (d) 66.66%

76. The following pie chart shows the number of students
who failed in different subjects in an examination.

fuEukafdr ikbZ pkVZ ,d ijh{kk esa fofHkUu fo"k;ksa esa vuqÙkh.kZ
Nk=kks a dh la[;k dks n'kkZrk gSA
Examine the chart and answer the following question.
The total number of students who have failed is 350.

pkVZ dk voyksdu dhft,] vkSj fuEufyf•r ç'u dk mÙkj nhft,A
vuqÙkh.kZ gksus okys Nk=kksa dh dqy la[;k 350 gSA

English
22%

Hindi 10%Chemistry
12%

Ph
ys

ic
s

8%

Social
21%

Mathematics
27%

The number of students failed in mathematics is less than

the number of students failed in all other subjects by:

xf.kr esa vuqÙkh.kZ Nk=kks a dh la[;k] vU; lHkh fo"k;ksa esa vuqÙkh.kZ
Nk=kks a dh la[;k ls fdruh de gS\

SSC CPO 04/10/2023 (Shift-02)

(a) 95 (b) 256

(c) 190 (d) 161

77. Study the given table and answer the question that
follows.

nh xbZ rkfydk dk vè;;u dhft, vkSj uhps fn, x, ç'u dk
mÙkj nhft,A
The table shows the number of people who responded
to a survey about their favourite style of music.

rkfydk mu yksxksa dh la[;k n'kkZrh gS ftUgksaus laxhr dh viuh
ilanhnk 'kSyh ds ckjs esa ,d loZs{k.k esa çfrfØ;k nh gSA

Age  18-20  21-30 31+  
Classical  5 5 15 

Pop  5 11 10 
Hip-Hop 6 9 8 

Rock  9 7 13 

Total  28 32 46 

 What percentage of the total sample indicated that
Rock is their favourite style of music (rounded off to
2 decimal places)?

loZs{k.k fd, x, dqy yksxksa ds fdrus çfr'kr us ladsr fn;k gS
fd mudh ilanhnk 'kSyh jkWd laxhr gS (nks n'keyo LFkku rd
iw.kkZ afdr)\

SSC CPO 04/10/2023 (Shift-02)

(a) 29.65% (b) 8.25%

(c) 27.36% (d) 22.35%

78. Study the pie-chart given below, and answer the
question that follows.

uhps fn, x, ikbZ pkVZ dk vè;;u dhft,] vkSj fuEufyf•r
ç'u dk mÙkj nhft,A
Percentage-wise break up of students in terms of
specialisation in B Tech

chVsd esa fo'ks"kKrk ds lanHkZ esa Nk=kks a dk çfr'kr ckj fooj.k
Total Numbers of Students = 6700

Nk=kksa dh dqy la[;k = 6700

IT
21% CSE

22%

ECE
10%

MECH
27%

CIVIL
8%

EEE
12%

What is the total number of students having

specialisation in CSE, ECE and CIVIL?

CSE, ECE vkSj CIVIL esa fo'ks"kKrk j•us okys Nk=kksa dh dqy
la[;k fdruh gS\

SSC CPO 04/10/2023 (Shift-02)

(a) 2480 (b) 2860

(c) 2840 (d) 2680
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79. The following table shows the percentage population
of four towns below poverty line and the proportion
of males and females:

fuEu rkfydk xjhch js•k ls uhps ds pkj 'kgjksa dh çfr'kr tula[;k
vkSj iq#"kks a ,oa efgykvksa dk vuqikr n'kkZrh gS%

Town  Percentage of population 
below poverty line  

Below poverty line  Above poverty line  
Male : Female Male : Female 

A 10 1 : 3 3 : 2 
B 15 3 : 4 1 : 2 
C 20 2 : 3 5 : 3 

D 25 4 : 5 5 : 4 

 

s

If the total population of town C is 8000 then what is the
number of females above the poverty line in state C?

;fn 'kgj C dh dqy tula[;k 8000 gS] rks jkT; C esa xjhch
js•k ls Åij okyh efgykvksa dh la[;k fdruh gS\

SSC CPO 04/10/2023 (Shift-02)

(a) 2600 (b) 2400

(c) 200 (d) 2000

80. The table below shows the number of trees planted by
the government in 4 different years.

uhps nh xbZ rkfydk 4 vyx&vyx o"kks± esa ljdkj }kjk yxk, x,
isM+ksa dh la[;k n'kkZrh gSA

Year Neem Oak Birch

2019 2000 3000 4000

2020 3000 4000 5000

2021 5000 6000 7000

2022 7000 8000 9000

Find the ratio between the number of neem trees

planted in the year 2021 and the number of birch

trees planted in the year 2022.

o"kZ 2021 esa yxk, x, uhe ds isM+ksa dh la[;k vkSj o"kZ 2022 esa
yxk, x, cpZ isM+ksa dh la[;k ds chp vuqikr Kkr dhft,A

SSC CPO 04.10.2023 (Shift-3)

(a) 3 : 7 (b) 3 : 8

(c) 5 : 8 (d) 5 : 9

81. The given pie chart shows the distribution of land
under various food crops.

fn;k x;k ikbZ pkVZ fofHkUu •k| iQlyksa ds varxZr Hkwfe ds forj.k
dks n'kkZrk gSA

The expenditure invested on these food crops is

Rs.25,000 per annum. Study the pie chart carefully

and answer the question that follows.

bu •k| iQlyksa ij fuos'k fd;k x;k O;; çfr o"kZ 25]000 #i;s gSA ikbZ
pkVZ dk è;kuiwoZd vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

Rice
50%

    Jwar
       8%

Barley
  12%

Wheat
  20%

    Bajra
       10%

The expenditure invested in Rice and Barley is what
percentage (correct to 2 decimal places) of the
expenditure invested in Wheat and Bajra?

pkoy vkSj tkS esa fuos'k fd;k x;k O;; xsgwa vkSj cktjk esa fuos'k
fd, x, O;; dk fdruk çfr'kr (2 n'keyo LFkkuksa rd lgh) gS\

SSC CPO 04.10.2023 (Shift-3)

(a) 206.66% (b) 260.66%

(c) 260.55% (d) 206.55%

82. The following bar graph shows the milk production (in
million tons) details for 4 years for three brands (P, Q, R):

fuEufyf•r ckj xzkiQ rhu czkaMksa (P, Q, R) ds fy, 4 o"kks± ds nw/
mRiknu (fefy;u Vu esa) dk fooj.k fn•krk gS%
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What was the average production of milk (in million

tons) per year over the period of 4 years?

4 o"kks± dh vof/ esa çfr o"kZ nw/ dk vkSlr mRiknu (fefy;u Vu esa)
D;k Fkk\

SSC CPO 04.10.2023 (Shift-3)

(a) 50 (b) 30

(c) 70 (d) 90

83. Study the given bar-graph and answer the question
that follows.

fn, x, ckj&xzkiQ dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
The bar-graph displays the number of bicycles
produced at a factory from 1998 to 2002.

ckj&xzkiQ 1998 ls 2002 rd ,d dkj•kus esa mRikfnr lkbfdyksa dh
la[;k çnf'kZr djrk gSA

800

600

900

1100
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1200
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1998 1999 2000 2001 2002

What was the average number of bicycles produced

at the factory per year from 1998-2002?

1998&2002 rd çfr o"kZ dkj•kus esa mRikfnr lkbfdyksa dh vkSlr
la[;k D;k Fkh\

SSC CPO 04.10.2023 (Shift-3)

(a) 940 (b) 920

(c) 880 (d) 960
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84. In a megastore, the following data reveals the units

purchased during the years.

,d esxkLVksj esa] fuEufyf•r MsVk ls o"kks± ds nkSjku •jhnh xbZ bdkb;ksa
dk irk pyrk gSA

What is the percentage growth in total units purchased

(of all the three products) from 2015 to 2020?

2015 ls 2020 rd •jhnh xbZ dqy bdkb;ksa (rhuksa mRiknksa dh) esa
çfr'kr of̀¼ D;k gS\

Year Tea Coffee Cold drink

2015 650 450 1008

2016 730 402 1092

2017 710 354 770

2018 570 438 812

2019 820 390 1043

2020 830 501 1330

SSC CPO 04.10.2023 (Shift-3)

(a) 26.23 % (b) 21.68 %

(c) 22.75 % (d) 25.76 %

85. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The table shows the percentage population of four

states below poverty line and proportion of male to

female.

rkfydk pkj jkT;ksa dh xjhch js•k ls uhps dh çfr'kr tula[;k vkSj
iq#"k ls efgyk dk vuqikr n'kkZrh gSA

State Percentage of 
population below 
poverty line 
 
 

Proportion of male to female 

Below poverty line Above poverty line 

Male : Female Male : Female 

P 28 3 : 2 7 : 3 

Q 15 4 : 7 6 : 5 

R 24 5 : 3 3 : 3 

S 13 2 : 5 1 : 3 

 
If the total population of state R is 26,000, then what is

the number of females above poverty line in state R?

;fn jkT; R dh dqy tula[;k 26]000 gS] rks jkT; R esa xjhch js•k
ls Åij efgykvksa dh la[;k fdruh gS\

SSC CPO 04.10.2023 (Shift-3)

(a) 9,560 (b) 9,950

(c) 9,880 (d) 9,780

86. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The table shows the number of employees in five

different organisations A, B, C, D and E in different

departments.

rkfydk ikap vyx&vyx laxBuksa A, B, C, D vkSj E esa fofHkUu
foHkkxksa esa deZpkfj;ksa dh la[;k n'kkZrh gSA

Dept
A B C D E

Org

HR 1050 1015 976 888 1004

Finance 1017 960 786 1025 963

Marketing 1382 1384 1275 1300 1290

Production 1542 1545 4550 1570 1580

Accounts 786 745 801 800 735

Legal 48 54 36 30 53

Total 5825 5703 5424 5613 5625





Which department has a minimum number of

employees in each organisation?

çR;sd laxBu esa fdl foHkkx esa deZpkfj;ksa dh U;wure la[;k gS\

SSC CPO 04.10.2023 (Shift-3)

(a) Production (b) Legal

(c) Accounts (d) Marketing

87. Study the given graph and answer the question that
follows.

fn, x, xzkiQ dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
The graph shows data regarding number of boys and
girls studying in class 5 in four different schools.

xzkiQ pkj vyx&vyx Ldwyksa esa d{kk 5 esa i<+us okys yM+dksa vkSj
yM+fd;ksa dh la[;k ls lacaf/r MsVk fn•krk gSA
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What is the difference between total number of boys

studying in school P and Q together and the total
number of girls in the same schools together?

Ldwy P vkSj Q esa i<+us okys yM+dksa dh dqy la[;k vkSj leku Ldwy
esa i<+us okyh yM+fd;ksa dh dqy la[;k ds chp fdruk varj gS\

SSC CPO 04.10.2023 (Shift-3)

(a) 40 (b) 35

(c) 45 (d) 38

88. The monthly budget of an average household is given

in the following table.

,d vkSlr ifjokj dk ekfld ctV fuEufyf•r rkfydk esa fn;k x;k gSA

Category Food Clothing Rent Savings

Amount 8000 2000 6000 4000

The percentage of the monthly budget spent on clothing is:

diM+ksa ij ekfld ctV •pZ dk çfr'kr gS%

SSC CPO 04.10.2023 (Shift-3)
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(a) 12% (b) 4%

(c) 8% (d) 10%

89. Study the given graph and answer the question that
follows.

fn, x, xzkiQ dk vè;;u dhft, vkSj mlds ckn iwNs x, ç'u dk
mÙkj nhft,A

The following graph shows the distribution of the cost
percentage of different items.

fuEukafdr xzkiQ fofHkUu oLrqvksa ds ykxr çfr'kr ds forj.k dks
n'kkZrk gSA

Mobile 
Phones

20%

Camera
15%

TV'S
15%

Tablet
20%

Laptop
30%

Cost percentage distribution of different items

If a person purchased all the items for Rs 3,00,000,
then the cost of a TV is less than that of a laptop by:

;fn fdlh O;fDr us lHkh oLrq,¡ :i;s 300]000 esa [kjhnha] rks ,d
Vhoh dh ykxr] ySiVkWi ds ykxr dh rqyuk esa ------- de gSA

SSC CPO 05/10/2023 (Shift-01)

(a) Rs 55,000 (b) Rs 45,000

(c) Rs 50,000 (d) Rs 40,000

90. Study the given bar graph carefully to answer the
question that follows.

fn, x, ckj xzkiQ dk è;kuiwoZd vè;;u dhft, vkSj fuEufyf•r
ç'u dk mÙkj nhft,A

Marks obtained by four students in Mid-I and Mid-II.

feM&I vkSj feM&II esa pkj Nk=kksa }kjk çkIr vad

33

SunilSunil Hemanth Rehman Mohan

Students
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Marks obtain by Hemanth in Mid-I are what percentage
of the total marks obtained by all the students in Mid-I?

feM&I esa gsear }kjk çkIr vad] feM&I esa lHkh Nk=kksa }kjk çkIr
dqy vadksa ds fdrus çfr'kr ds cjkcj gSa\

SSC CPO 05/10/2023 (Shift-01)

(a) 15% (b) 30%

(c) 20% (d) 25%

91. The following table shows the income of a company

in a year from various sectors:

fuEufyf[kr rkfydk fofHkUu {ks=kks a ls ,d o"kZ esa gqbZ fdlh daiuh
dh vk; dks n'kkZrh gS%

Sectors Fina
nce 

Comm
unicati

on 

Produc
tion 

Sales Transpo
-rtation 

Amount 
(in Lakhs 

Rs) 

85 60 67 115 75 

 What is the difference (in lakh Rs) between the income
from the maximum earning sector and the minimum
earning sector?

vf/dre dekbZ okys {ks=k vkSj U;wure dekbZ okys {ks=k ls gksus
okyh vk; ds chp dk varj (yk[k :- esa) fdruk gS\

SSC CPO 05/10/2023 (Shift-01)

(a) 30 (b) 55

(c) 40 (d) 48

92. The table below shows the number of laptops sold
by the 4 sellers and the ratio of Brand1 laptops sold
to Brand 2 laptops sold.

uhps nh xbZ rkfydk 4 foØsrkvksa }kjk csps x, ySiVkWi dh la[;k
rFkk csps x, czkaM 1 ySiVkWi vkSj csps x, czkaM 2 ySiVkWi dk
vuqikr n'kkZrh gSA

Seller 
Total laptops 

sold 

Brand 1 laptops sold: 

Brand 2 laptops sold 

A 4000 3 : 1 

B 6000 2 : 1 

C 8000 5 : 3 

D 5000 1 : 4 

 The number of Brand1 laptops sold by A seller is how
many more than the number of Brand 2 laptops sold
by B seller?

A foØsrk }kjk csps x, czkaM 1 ySiVkWi dh la[;k B foØsrk }kjk
csps x, czkaM 2 ySiVkWi dh la[;k ls fdruh vf/d gS\

SSC CPO 05/10/2023 (Shift-01)

(a) 1200 (b) 1000

(c) 600 (d) 800

93. The pie chart below shows the spendings of a state
on various sports during a particular year:

uhps fn, x, ikbZ pkVZ esa ,d fo'ks"k o"kZ ds nkSjku fofHkUu [ksyksa
ij jkT; }kjk fd, x, O;; dks n'kkZ;k x;k gS%

 

Cricket

20%

Tennis

15%

Basket
ball
12%

Hockey

13%

Other

30%

If the total amount spent on sport during the year
was Rs 75,00,000 then how much (in Rs) was spent
on cricket and hockey together?

;fn o"kZ ds nkSjku [ksyksa ij O;; dh xbZ dqy jkf'k 75]00]000
:i;s Fkh] rks fØdsV vkSj gkWdh ij dqy feykdj fdruh jkf'k
(:- esa) O;; dh xbZ Fkh\

SSC CPO 05/10/2023 (Shift-01)
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(a) Rs 26,80,000 (b) Rs 18,75,000

(c) Rs 24,75,000 (d) Rs 21,55,000

94. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u dhft,] vkSj uhps fn, x, ç'u dk
mÙkj nhft, A

The table shows data of population and literacy/illiteracy

rate among the population in three different villages.

nh xbZ rkfydk rhu vyx&vyx xkaoksa dh tula[;k esa] tula[;k
vkSj lk{kjrk @ fuj{kjrk nj ds vkadM+s n'kkZrh gSA

Village 
 

Respective 
ratio between 

number of 
males and 

females 

Percentage 
of literates 
(Males and 

females) 
out of total 
population 

Number of 
illiterates 

(Males and 
females) 

out of total 
population 

P 2 : 5 45 380 
Q 3 : 7 65 270 
R 1 : 3 80 150 

 
The number of illiterates in village R is what percentage

less than that in village P?

xkao R esa fuj{kjksa dh la[;k] xkao P esa fuj{kjksa dh la[;k ls
fdrus çfr'kr de gS\

SSC CPO 05/10/2023 (Shift-01)

(a)
11

60 %
19

(b)
8

60 %
19

(c)
9

60 %
19

(d)
10

60 %
19

95. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u djsa] vkSj uhps fn, x, ç'u dk mÙkj nsaA

The table shows the number of students studying in

6 different classes of 6 different schools.

fuEu rkfydk 6 vyx&vyx Ldwyksa dh 6 vyx&vyx d{kkvksa
esa i<+us okys fo|kfFkZ;ksa dh la[;k dks n'kkZrh gSA

Schools V VI VII VIII IX X 
P 152 160 145 156 147 144 
Q 148 166 150 155 157 143 
R 161 152 140 145 143 165 
S 159 142 149 140 142 168 
T 147 144 158 163 154 150 
U 150 160 162 160 160 140 

Total 917 924 904 919 903 910 

 
Which class has the minimum number of students

from all schools together?

lHkh Ldwyksa esa feykdj fdl d{kk esa fo|kfFkZ;ksa dh la[;k U;wure gS\

SSC CPO 05/10/2023 (Shift-01)

(a) VII (b) IX

(c) X (d) VIII

96. Study the given graph and answer the question

that follows.

fn, x, vkys• dk vè;;u dhft, vkSj uhps fn, x, ç'u dk
mÙkj nhft,A

The graph shows data related to number of students

enrolled for a vocational course in two institutes

(X and Y) during three years.

vkys• rhu o"kks± ds nkSjku nks laLFkkuksa (X vkSj Y) esa O;kolkf;d
ikBÔØe ds fy, ukekafdr Nk=kksa dh la[;k ls lacaf/r MsVk fn•krk gSA
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What is the difference between the average number

of students enrolled in institute X in 2010 and 2011

and that in institute Y in 2011 and 2012?

2010 vkSj 2011 esa laLFkku X esa ukekafdr Nk=kksa dh vkSlr la[;k
rFkk 2011 vkSj 2012 esa laLFkku Y esa ukekafdr Nk=kksa dh vkSlr
la[;k ds chp fdruk varj gS\

SSC CPO 05/10/2023 (Shift-01)

(a) 15 (b) 20

(c) 18 (d) 22

97. The given pie-chart represents the survey report on

favourite games of a group of young people.

fn;k x;k ikbZ&pkVZ ;qok yksxkas ds ,d lewg ds ilanhnk [ksyksa ij
losZ{k.k fjiksVZ dks n'kkZrk gSA

    

Football

30%

Cricket

36%

Hockey 
12%

Volleyball 17%

Other

5%

If a total of 4980 people were surveyed, then what

is the central angle produced by the sector indicating

football?

;fn dqy 4980 yksxksa dk loZs{k.k fd;k x;k] rks iQqVcky dks
n'kkZus okys {ks=k }kjk fufeZr dsaæh; dks.k D;k gS\

SSC CPO 05/10/2023 (Shift-01)

(a) 100º (b) 108º

(c) 105º (d) 90º

98. In a survey, 200 respondents were asked whether

they owned a vehicle or not. Their responses are

tabulated below.
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,d loZs{k.k esa 200 mÙkjnkrkvksa ls iwNk x;k fd D;k muds ikl
okgu gS ;k ughaA mudh çfrfØ;k,¡ uhps lkj.khc¼ gSaA

What percentage of respondents do NOT own a car?

fdrus çfr'kr mÙkjnkrkvksa ds ikl dkj ugha gS\

 Men Women 

Own 
Vehicle 

Scooter 30 20 

Car 25 10 
Both 15 5 

Do not own vehicle 50 45 

 SSC CPO 05.10.2023 (Shift-2)

(a) 72.5% (b) 65%

(c) 68.5% (d) 75%

99. Study the given table chart carefully and answer the
question that follows.

fn, x, rkfydk pkVZ dk è;kuiwoZd vè;;u djsa vkSj fuEufyf•r
ç'u dk mÙkj nsaA
The given table represents the number of employees
in five different organisations, i.e., A, B, C, D and E
in 2019, 2020, 2021 and 2022.

nh xbZ rkfydk 2019] 2020] 2021 vkSj 2022 esa ikap vyx&vyx
laxBuksa] ;kuh A, B, C, D vkSj E esa deZpkfj;ksa dh la[;k n'kkZrh gSA

Organisation Years 

2019 2020 2021 2022 
A 4000 7800 2600 5200 

B 3800 9200 9100 7300 

C 4500 5500 7800 3250 

D 7000 3800 8000 4650 

E 6600 6200 7600 2880 

 The ratio of the number of employees in 2019 in
organisations D and E taken together to that in 2021

in the same organisations is:

2019 esa laxBu D vkSj E esa deZpkfj;ksa dh la[;k dk 2021 esa
leku laxBuksa esa deZpkfj;ksa dh la[;k ls vuqikr gS%

SSC CPO 05.10.2023 (Shift-2)

(a) 34 : 39 (b) 39 : 34

(c) 14 : 9 (d) 9 : 14

100. Study the given pie-chart and answer the question
that follows.

fn, x, ikbZ&pkVZ dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
The pie-char shows the sale of different fruits in a shop

in a day.

ikbZ&pkVZ ,d fnu esa ,d nqdku esa fofHkUu iQyksa dh fcØh dks n'kkZrk gSA

  

Others
 20%

Banana
   30%

Grapes   10%
Apple
  25%

Orange
   15%

If a total of 1200 kg of fruits were sold in a day, find the

difference between sales of grapes and oranges (in kg)

;fn ,d fnu esa dqy 1200 fdyksxzke iQy csps x,] rks vaxwj vkSj
larjs dh fcØh ds chp varj Kkr djsa (fdyks esa)

SSC CPO 05.10.2023 (Shift-2)

(a) 60 (b) 45

(c) 65 (d) 55

101. The following table shows the marks obtained out of
100, by 5 students in 5 different subjects.

fuEufyf•r rkfydk 5 vyx&vyx fo"k;ksa esa 5 Nk=kksa }kjk 100 esa
ls çkIr vadksa dks n'kkZrh gSA

Students Hindi English Maths Science Social

Ravi 78 84 88 75 79

Abhishek 84 86 78 89 80

Ayush 88 80 90 82 85

Rohit 72 85 88 89 78

Aryan 86 88 77 79 89

What are the total marks scored by Ayush in all the
subjects?

vk;q"k }kjk lHkh fo"k;ksa esa dqy fdrus vad çkIr fd;s x;s gSa\

SSC CPO 05.10.2023 (Shift-2)

(a) 445 (b) 435

(c) 465 (d) 425

102. Study the given table and answer the question that
follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
The table shows the number of students studying in
six different classes of six different schools.

rkfydk Ng vyx&vyx Ldwyksa dh Ng vyx&vyx d{kkvksa esa
i<+us okys Nk=kksa dh la[;k n'kkZrh gSA

School Class V Class VI Class VII Class VIII Class IX Class X 

P 152 160 145 156 147 144 

Q 148 166 150 155 157 143 

R 161 152 140 145 143 165 

S 159 142 149 140 142 168 

T 147 144 158 163 154 150 

U 150 160 162 160 161 140 

Total 917 924 904 919 904 910 

 
The number of students studying in class VII from
school U is what percentage of the total number of
students from all the classes together from that at

school (rounded off to 2 digits after decimal)?

Ldwy U esa d{kk VII esa i<+us okys Nk=kksa dh la[;k Ldwy dh lHkh
d{kkvksa esa i<+us okys Nk=kksa dh dqy la[;k dk fdruk çfr'kr gS
(n'keyo ds ckn 2 vadksa rd iw.kkZafdr)\

SSC CPO 05.10.2023 (Shift-2)

(a) 16.48% (b) 15.63%

(c) 17.36% (d) 18.25%

103. The following table shows the data of 10th grade

students of Portland High school.
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fuEu rkfydk iksVZySaM gkbZ Ldwy ds 10oha d{kk ds Nk=kksa dk MsVk
fn•krh gSA

Boys Girls

Enrolled in Science 25 20

Not enrolled in Science 20 30

What is the approximate percentage of the 10th grade
boys of Portland High school who are NOT enrolled in
Science?

iksVZySaM gkbZ Ldwy ds 10oha d{kk ds yM+dksa dk vuqekfur çfr'kr
D;k gS tks foKku esa ukekafdr ugha gSa\

SSC CPO 05.10.2023 (Shift-2)

(a) 33.33% (b) 55.55%

(c) 22.22% (d) 44.44%

104. Study the following table carefully and answer the
questions based on it.

fuEufyf•r rkfydk dk è;kuiwoZd vè;;u djsa vkSj ml ij vk/kfjr
ç'uksa ds mÙkj nsaA
The following table shows the domestic sales of vehicles
of four manufactures from 2010 to 2015.

fuEufyf•r rkfydk 2010 ls 2015 rd pkj fuekZrkvksa ds okguksa dh
?kjsyw fcØh n'kkZrh gSA

Manufacturer 2010 2011 2012 2013 2014 2015

A 560000 580000 600000 620000 650000 680000

B 540000 590000 570000 630000 710000 550000

C 610000 580000 620000 680000 690000 630000

D 630000 570000 700000 640000

With respect to which of the following combinations,

is the sales of vehicles lowest over the given period?

fuEufyf•r esa ls fdl la;kstu ds laca/ esa] nh xbZ vof/ esa okguksa
dh fcØh lcls de gS\

SSC CPO 05.10.2023 (Shift-2)

(a) 2010 (b) 2015

(c) 2011 (d) 2010

105. Study the given table and answer the question that
follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
The table shows the number of employees in five
different organisations A, B, C, D and E in different
departments.

rkfydk ikap vyx&vyx laxBuksa A, B, C, D vkSj E esa fofHkUu
foHkkxksa esa deZpkfj;ksa dh la[;k n'kkZrh gSA

Dept
A B C D E

Org

HR 1050 1015 976 888 1004

Finance 1017 960 786 1025 963

Marketing 1382 1384 1275 1300 1290

Production 1542 1545 4550 1570 1580

Accounts 786 745 801 800 735

Legal 48 54 36 30 53

Total 5825 5703 5424 5613 5625





Which organisation has maximum number of

employees?

fdl laxBu esa deZpkfj;ksa dh la[;k lcls vf/d gS\

SSC CPO 05.10.2023 (Shift-2)

(a) A (b) E

(c) B (d) D

106. Study the following pie chart and answer the below

question:

fuEufyf•r ikbZ pkVZ dk vè;;u djsa vkSj uhps fn, x, ç'u dk
mÙkj nsa%

Food items
25%

Travel
8%

Education
17%

Rent
20%

Savings
20%

Others
 10%

Total estimated yearly expenses = 3,00,000

How much per cent is more expense on rent than the

expense on others?

fdjk, ij gksus okyk •pZ vU; ij gksus okys •pZ ls fdruk çfr'kr
vf/d gS\

SSC CPO 05.10.2023 (Shift-2)

(a) 150% (b) 10%

(c) 50% (d) 100%

107. The following table gives the number of different types

of batteries sold by a company over the years

(numbers in hundreds).

fuEu rkfydk fiNys dqN o"kks± esa fdlh daiuh }kjk csph xbZ fofHkUu
çdkj dh cSVfj;ksa dh la[;k (lSdM+ksa esa la[;k) nsrh gSA

Type of battery 7AH 32AH 35AH 55AH 
Years 
2018 20 30 40 50 
2019 40 35 45 45 
2020 50 40 40 40 
2021 40 50 50 45 
2022 45 45 35 35 

 What is the difference in the number of 7AH batteries

sold in 2021 and 2022?

2021 vkSj 2022 esa csph xbZ 7AH cSVfj;ksa dh la[;k esa D;k varj gS\

SSC CPO 05.10.2023 (Shift-3)

(a) 300 (b) 200

(c) 500 (d) 700

108. Study the given pie-chart and answer the question

that follows.

fn, x, ikbZ&pkVZ dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
The pie-chart shows the expenditure of a family on

different items and their savings throughout the

year 2021.

ikbZ&pkVZ o"kZ 2021 ds nkSjku fofHkUu enksa ij ,d ifjokj ds •pZ
vkSj mudh cpr dks n'kkZrk gSA
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Other 
 20%

Saving
 15%

Transport
    5%

Education
 of Children 

12%

Housing 
  15%

C
lo

th
in

g 
   

10
%

Food
23%

If the total income for the year was Rs. 1,00,000, then

the difference in the expenses (in Rs.)between housing

and transport was:

;fn o"kZ ds fy, dqy vk; 1]00]000 #i;s Fkh] rks vkokl vkSj
ifjogu ds chp •pks± esa varj (#i;s esa) Fkk%

SSC CPO 05.10.2023 (Shift-3)

(a) 9,500 (b) 10,500

(c) 9,000 (d) 10,000

109. Study the given bar graph carefully and answer the

question that follows. Increment of four employees (in

Rs.) in the months of May, June and July.

fn, x, ckj xzkiQ dk è;kuiwoZd vè;;u djsa vkSj fuEufyf•r ç'u
dk mÙkj nsaA ebZ] twu vkSj tqykbZ ekg esa pkj deZpkfj;ksa dh osru
of̀¼ (#i;s esa)A
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What is Kamal's overall average increment in three

months?

rhu eghuksa esa dey dh dqy vkSlr osru of̀¼ D;k gS\

SSC CPO 05.10.2023 (Shift-3)

(a) Rs. 60 (b) Rs. 75

(c) Rs. 70 (d) Rs. 65

110. The following table represents the number of scooters

sold by 5 stores in 4 different months in the year 2022.

fuEufyf•r rkfydk o"kZ 2022 esa 4 vyx&vyx eghuksa esa 5 nqdkuksa
}kjk csps x, LdwVjksa dh la[;k n'kkZrh gSA

Stores  
A B C D E 

Months  

January 212 168 173 182 190 

February 312 250 212 175 182 

March 280 275 265 255 245 

April 270 280 290 305 275 

Find the ratio between the total number of scooters

sold by stores A and B together in January and the

total number of scooters sold by stores D and E

together in March?

tuojh esa LVksj A vkSj B }kjk csps x, LdwVjksa dh dqy la[;k vkSj
ekpZ esa LVksj D vkSj E }kjk csps x, LdwVjksa dh dqy la[;k ds chp
vuqikr Kkr dhft,\

SSC CPO 05.10.2023 (Shift-3)

(a) 18 : 23 (b) 19 : 25

(c) 17 : 25 (d) 20 : 23

111. The given graph shows the income and expenditure

of a family. Study the graph and answer the question

that follows.

fn;k x;k xzkiQ ,d ifjokj dh vk; vkSj O;; dks n'kkZrk gSA xzkiQ
dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
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The expenditure of the family increased by _____ from

2017 to 2018.

2017 ls 2018 rd ifjokj dk •pZ _____ c<+ x;kA

SSC CPO 05.10.2023 (Shift-3)

(a) 25% (b) 22%

(c) 20% (d) 11%

112. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA
The table shows the number of employees in three

organisations during three years.

rkfydk rhu o"kks± ds nkSjku rhu laxBuksa esa deZpkfj;ksa dh la[;k n'kkZrh gSA

Year 

Organization 

2018 2019 2020 

P 75 69 85 
Q 96 81 74 
R 85 63 90 

 What is the respective ratio between total number of

employees in organisations P and R together in 2019

and total number of employees in organisations Q and

R together in 2020?

2019 esa laxBu P vkSj R esa deZpkfj;ksa dh dqy la[;k vkSj 2020
esa laxBu Q vkSj R esa deZpkfj;ksa dh dqy la[;k ds chp lacaf/r
vuqikr D;k gS\

SSC CPO 05.10.2023 (Shift-3)
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(a) 41 : 31 (b) 33 : 23

(c) 23 : 41 (d) 33 : 41

113. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsaA

The table shows the number of students in various

courses in various cities A, B, C, D and E in India

during the academic year 2022-2023.

rkfydk 'kS{kf.kd o"kZ 2022&2023 ds nkSjku Hkkjr ds fofHkUu 'kgjksa  A,

B, C, D vkSj E esa fofHkUu ikBÔØeksa esa Nk=kksa dh la[;k n'kkZrh gSA

       

City MBA Science Engineering Medicine MCA Total

A 1200 2560 4520 1100 960 10340

B 1350 2650 5100 1050 850 11000

C 1250 2640 4580 1120 750 10340

D 1960 1250 3500 1850 1600 10160

E 1200 2100 3500 960 540 8300

During the academic year 2022-2023, which city had

the largest number of students?

'kS{kf.kd o"kZ 2022&2023 ds nkSjku fdl 'kgj esa Nk=kksa dh la[;k
lcls vf/d Fkh\

SSC CPO 05.10.2023 (Shift-3)

(a) B (b) D

(c) A (d) C

114. Study the given table and answer the question that

follows.

nh xbZ rkfydk dk vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsa

Number of children Number of families

0 4

1 22

2 15

3 6

4 2

The average number of children per family is:

çfr ifjokj cPpksa dh vkSlr la[;k gS%

SSC CPO 05.10.2023 (Shift-3)

(a) 1.72 (b) 1.49

(c) 1.23 (d) 1.59

115. Study the given pie-chart carefully and answer the

question that follows.

fn, x, ikbZ&pkVZ dk è;kuiwoZd vè;;u djsa vkSj fuEufyf•r ç'u
dk mÙkj nsaA

Degree wise Break-up of Expenditure of a Family in a

Month.

,d eghus esa ,d ifjokj ds O;; dk fMxzhokj C;kSjkA

Total amount spent in a month = Rs. 56800.

,d eghus dk dqy O;; = 56800 #.

   

Savings

Education
of children

95°

Housing
Transport

79.2°
84.7°

65.3°

Others
35.8°

What is the amount spent by the family on housing?

ifjokj }kjk vkokl ij fdruh jkf'k •pZ dh xbZ gS\

SSC CPO 05.10.2023 (Shift-3)

(a) Rs. 11,814 (b) Rs. 12,496

(c) Rs. 10,615 (d) Rs. 6,248
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Answer Key
1.(a) 2.(b) 3.(b) 4.(d) 5.(d) 6.(a) 7.(a) 8.(d) 9.(c) 10.(a)

11.(c) 12.(a) 13.(d) 14.(d) 15.(b) 16.(a) 17.(a) 18.(a) 19.(b) 20.(c)

21.(b) 22.(a) 23.(a) 24.(c) 25.(a) 26.(a) 27.(a) 28.(d) 29.(d) 30.(a)

31.(c) 32.(b) 33.(a) 34.(c) 35.(a) 36.(d) 37.(d) 38.(c) 39.(d) 40.(d)

41.(b) 42.(b) 43.(b) 44.(b) 45.(a) 46.(d) 47.(b) 48.(b) 49.(b) 50.(a)

51.(a) 52.(a) 53.(c) 54.(b) 55.(c) 56.(a) 57.(c) 58.(c) 59.(d) 60.(a)

61.(c) 62.(a) 63.(d) 64.(c) 65.(b) 66.(c) 67.(c) 68.(c) 69.(b) 70.(c)

71.(c) 72.(b) 73.(a) 74.(a) 75.(a) 76.(d) 77.(c) 78.(d) 79.(b) 80.(d)

81.(a) 82.(d) 83.(b) 84.(a) 85.(c) 86.(b) 87.(b) 88.(d) 89.(b) 90.(d)

91.(b) 92.(b) 93.(c) 94.(d) 95.(b) 96.(b) 97.(b) 98.(a) 99.(a) 100.(a)

101.(d) 102.(c) 103.(d) 104.(d) 105.(a) 106.(d) 107.(c) 108.(d) 109.(d) 110.(b)

111.(a) 112.(d) 113.(a) 114.(d) 115.(b)
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SOLUTIONS
1. (a)

20% of 50 
50 20

10
100


 

Number of student who got less than 10 marks

= 100 – 87  = 13

2. (d)

In years 2019 – 20

Total cost = Rs.6500

Assumed  profit = 25% = 
1

4

ATQ,

5
6500

4
   = Rs.8125

3. (b)

Population of Village D in 2020 is 10,500

ATQ,

8%  10500

10500
1%

8


Now the Population of Village A =
10500

12
8



      = 15750

Hence the population of Village A in 2020 is = 15750

4. (d)

Exp. Incurred on health = 15000

Total Exp. = Electiricity + Rant + Entertain + Education
+ Health

= 5000 + 20,000 + 2000 + 8000 + 15000 = 50, 000

Now, the angle of Exp. on health 
15000

360
50,000

    = 108°

5. (d)

IIT Bombay + IIT Madras = 2080 – 1180 = 900

1
20%

5
 –

4

5





IIT Bombay

MadrasIIT

IIT Bombay IIT Madras
:

                      4 5+
         9



9 units  900

1 units  100

No of students in IIT Bombay = 4 × 100 = 400

6. (a)

Average sales of all companies

= 
 25 30 55 70 1000

4

   

180
1000

4

 
  
 

 = 45000

7. (a)

Sweets manufactured by P,Q,R togather in 1990

= 178 + 240 + 150 = 568

Sweets manufactured by S,T,U in 1998

= 130 + 177 + 192 = 499

Ratio = 568 : 499

8. (d)

Statement (d) is correct.

Rice production by B in 2017 is equal to the rice
production by A in 2020.

9. (c)

Difference between of laptops sold of company A and C

 (40 – 8)% of 2500 = 
32

2500
100

 = 800

10. (a)

Total marks = 50

60% marks of total marks

= 
60

50
100

 = 30 marks

Total number of student who got more then 30 marks is
= 33

Hence, the number of student eligible to purasue higher
studies in mathematics is 33.

11. (c)

Students placed in all companies in 2014 = 65.7 × 1000

Students placed in all companies in 2012 = 57.5 × 1000

Difference = (65.7 – 57.5) × 1000  = 8200

12. (a)

Donation = 35%

% of Fund used from donation as a scholarship

= 
26

100
35

  = 74.29%

13. (d)

Sum of Angela = 192

Sum of Maria = 206.57

Sum of Deepika = 195.07

Sum of Preeti = 226.80

Here sum of Preeti is highest, so Preeti was the best player.

14. (d)

In school (A) = 900 × 30% = 270

270
Male = × 7 =126

15

270
Female = × 8 =144

15

In School (D) = 800 × 18% = 144

144
Male = × 5 = 60

12

144
Female = × 7 = 84

12

Total male = (126 + 60) = 186
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Total Female = (144 + 84) = 228

Male : Female

186 228

31 : 38

15. (b)

Total number of plate = 3260

% of plates manufactured by B = 60% – 20% = 40%

According to question,

100%   3260

1%  
3260

100

40%  
3260

100%
 × 40% = 1304

Hence the number of plates are manufactured by B is
1304.

16. (a)

In 2019, sales of xyz phones  = 18

In 2020, sales of xyz phones = 40

Diff. = 40 – 18 = 22

Required% = 
22

100
18

 = 122.22%

17. (a)

In 2017, Production of x = 20

In 2018, Production of x = 20

Average production of x in 2017 & 2018

= 20 20
20

2


  (In 1000)

Similarly,

In 2019, Production of y = 32

In 2020, Production of y = 20

Average production y in 2019 & 2020

= 
32 20

2


 = 26 (In 1000)

Diff. = 26 – 20 = 6 × 1000 = 6000

Hence, the diff. between Average production of x & y
in 6000

18. (a)

Total marks = 500

Marks obtain by Hitansh's

= 67 + 70 + 64 + 55 + 75 = 331

Overall%

331
100

500
  = 66.22%

Hence, the percentage marks obtain by Hitansh's is
66.22%.

19. (b)

Avg quantity of item C during is month together

= 
(280 295 280 315)

4

  

1170

4
  = 292.5 kg

20. (c)

Average marks of A

= 
84 71 95

3

 
 = 

250

3
 = 83.33

Average marks of B

= 
93 76 101

3

 
 = 

270

3
 = 90

Average marks of C

= 
99 79 71

3

 
 = 

249

3
 = 83

Average marks of D

= 
80 90 94

3

 
 = 

264

3
 = 88

Average marks of E

= 
88 93 90

3

 
 = 

271

3
 = 90.33

Option (c) is correct.

21. (b)

First five months average wage

= 
9500 9400 9600 8000 8500

5

   

 = 
45000

5
 = 9000

22. (a)

 100% = 360°

Minimum (10%) = 
360

10
100


  = 36°

23. (a)

(In Delhi )

BSNL : Airtel

= 10 : 20 = 1 : 2

24. (c)

Total expenditure  = 3,00,000

% of material cost = 15%

% of selling Exp. = 28

Total = 15 + 28 + 43%

ATQ,

100% 30,0000

300000
43% 43

100
 

= 1,29,000
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25. (a)

The number of companies with more demand than
production = P, Q and R

the number of companies with more production than
demand = S and T .

Hence, the Ratio = 3 : 2

26. (a)

Bluetooth sale in 2017 = 49.7 Lakhs

Bluetooth sale in 2020 = 84 Lakhs

Increment = 84 – 49.7 = 34.3 Lakh

% increment = 
34.3

100%
49.7



= 
49

100%
71

  = 69%

27. (a)

Difference = Donation – Government agencies

= 35%  – 12% = 23%

 23% × 10,00000  Rs.230000

28. (d)

P  :  Q

 3276 : 4550

1638 : 2275

% = 
1638

100%
2275

 = 72%

29. (d)

Degree of the sector of student who appered in section
E = 58°

Required% of appered student = 
58

360
×100 = 16.1%

30. (a)

Coolers sold = 
(60 72 54 45)

4

  
 

231

4


Fans sold = 
(27 18 30 205)

4

  
 

95

4


Difference = 
231 95 136

–
4 4 4

  = 34

31. (c)

Difference b/w the total production of cotton and khadi

 (118 – 114) + (120 – 120) + (125 – 121)

= 4 + 0 + 4 = 8

32. (b)

Avg student enrolled from college D  = 
3600

5

Avg student who passed from college D = 
3400

5

Ratio  
3600 3400

:
5 5

 = 18 : 17

33. (a)

MP = 20%

Illeterate

1 4:
Goa = 12%

=

5

Literate

Illeterate

3 2:

Literate

× 12% = 4.8%

=

5

× 20% = 16%

20.8%

= 315000 × 20.8%  = 315000 × 
20.8

100
 = 65520

34. (c)

Total marks = 3000

Sector of Reasoning = 75°

ATQ,

360°  3000

3000
1

360
 

300
75 75

360
      625

Hence, the marks of reasoning 625.

35. (a)

Wheat imports in 1970  3465

Wheat imports in 1971  1600

Diff. = 3465 – 1600

= 1865

% = 
1865

100
3465

 = 53.82   54%

36. (d)

Required number of students =

80 78
120 135 1000

100 100

    
           

 (96 + 105.3) × 1000

 201300

37. (d)

Failed candidates in city D = 
6

10
× 2.35 = 1.41 lakhs

38. (c)

Children in P and Q together:-

20 30
10,000 20,000

100 100
   

= 2000 + 6000 = 8000

39. (d)

Total students in 2010 = 200

Students with 2nd division = 60

Required% = 
60

100
200

 = 30%
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40. (d)

Total Expenditure =

5425 + 5250 + 6125 + 7525 + 6475 + 4200 = 35000

Expenditure on education = 5425

Required angle = 
360

35000


× 5425

90 4 25 217 9 217

35000 35

   


= 
9 31 2

5 2

 



= 
558

10
= 55.8°

41. (b)

Maths  100%  360°

20%  
360

100
 × 20%

Science 100  360°

30%  
360

100
 × 30%

Now, required ratio = 
360

100
 × 20% : 

360

100
 × 30%

= 
20

30
 = 2 : 3

42. (b)

In 2003 = 
6.5 – 5.2

100 25%
5.2

 

In 2004 = 
7.8 – 6.5

100
6.5

 = 20%

In 2005 = 
9.9 – 7.8

100
9.8

 27%

In 2006 = 
10.8 – 9.9

9.9
× 100 = 9.09%

In 2008 = 
11.4 – 9.5

9.5
× 100 = 20%

 Max increase in 2005

43. (b)

3
20A during March 5

8A during April 25
15






12 3

40




= 
9

10
  9 : 10

44. (b)

Required% = 
8200 – 8000

100
8000



20000 20 5
2.5%

8000 8 2
   

45. (a)

Products sold by A on Thursday = 3000 – (2300)

= 700

Products sold by B on Tuesday = 3500 – (3000)

= 500

Required sale = 700 – 500 = 200 less

46. (d)

ATQ,

6 + 62 = 68% 850

Total expenditure = 100% 
850

68
× 100 = 1250

47. (b)

Required% = 
15 5

100 100
18 6

   83%

48. (b)

Required% = 
1342

1666
× 100

= 
671

100
833

 = 80.55%

49. (b)

Required average = 
85 80 75 70

4

  

= 
310

4
 = 77.5

Now, required percentage = 
77.5

100
 × 100 = 77.5%

50. (a)

Required percentage = 
45 65

360


× 100

= 
1100 275 5

30 %
36 9 9

 

51. (a)

Clearly from given table, Car S Shows continuous
increase

52. (a)

Clearly from given table, Car R shows continuous
decrease.

53. (c)

Total cakes by Q and S in September = 189 + 154

= 343

Total cakes by P and R in November = 168 + 168 = 336

 difference = 343 – 336 = 7

54. (b)

From given table average percentage of passing
students is least in college A.

= 68 + 72 + 78 + 80 = 298
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55. (c)

In 2015, highest earning is of R, ie, 68.

56. (a)

Clearly, from given table wheat has continuous
increase.

57. (c)

12% of total expenditure spent on education

Now, the required sum = 
12

100
× 100000 = 12000

58. (c)

Required percentage = 100 × 
boys in B 30

100
girl in E 55

 

                         = 54.54  55%

59. (d)

Required ratio = 
206 326

350 420




= 

532

770
 = 

76 38
=

110 55

60. (a)

UK : Australia = 125° – 75° = 50°

50

360





× 14400 = 2000

61. (c)

According to given graph minimum employees in C
organisation.

62. (a)

Students in Y and Z = 55%

Student in X and Y = 75%

 Difference = 75 – 55 = 20%

3600
20

100
 = 720

63. (d)

Addicated males in Channai:-

= 
11

20
× 2,00,000 = 110000

64. (c)

Male in P = 4560 – 2210 = 2350

Male in R = 3052 – 1280 = 1772

 Required difference = 2350 – 1772 = 578

65. (b)

10
60books in C1 100

60avg. books
4


  = 

4 2

10 5


66. (c)

From given table:-

Bicycle has maximum students = 280 + 190 = 470

67. (c)

Required% = 
846

1880
× 100

= 
4230 2115

94 47
  = 45%

68. (c)

The highest total sale is battery 32 AH

114 + 102 + 75 + 150 + 135 + 165 + 160 = 901

69. (b)

Clearly from table maximum number of students are

in Class VI = 160 + 166 + 152 + 142 + 144 + 160

= 924

70. (c)

Runs in New Zealand and Pakistan = 14% + 16% = 30%

= 
30

100
× 4000  = 1200

Runs agains Srilanka and Pakistan = 20% + 15% = 35%

= 
35

100
× 5000 = 1750

 Difference = 1750 – 1200 = 550

71. (c)

Bananas sold = 
30

100
× 1200 = 360

72. (b)

Avg. of A and C = 
55 13

2

 
   × 

2000

100
 

68000

100
= 680

73. (a)

2002 120       130 (more)

2005 205       240 (more)

P Q

From table, it is clear that company Q produce more

than company P in 2002 and 2005.

74. (a)

Required difference = S – Q = 205 – 198 = 7

75. (a)

Total = 24 h

Sleep = 8 hour

Required percentage = 
8

24
× 100 = 33.33%

76. (d)

Required number of students are:-

 73 – 27

100
× 350

= 
46

100
× 350  = 23 × 7 = 161

77. (c)

Total people = 28 + 32 + 46 = 106

Required% = 
9 7 13

106

 
× 100

= 
29

106
× 100 = 27.36%
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78. (d)

Required number of students = 
22 10 8

100

 
× 6700 = 2680

79. (b)

Required females = 
3 80

8 100
 × 8000 = 2400

80. (d)

Required ratio = 
5000 5

9000 9


81. (a)

Required% = 
50 12

20 10




= 

62

30
× 100

= 
620

3
 = 206.66%

82. (d)

Average production of milk

40 50 30 20 25 30

40 30 20 20 30 25

4

     

    


360
90

4
 

83. (b)

Required average = 
800 600 900 1100 1200

5

   

= 
4600

920
5



84. (a)

Required% = 
   830 501 1330 – 650 450 1008

100
650 450 1008

   


 

= 
2661 – 2108

100
2108



= 
55300

2108
= 26.23%

85. (c)

Required female:-

= 
3 76

26000
6 100
  = 9880

86. (b)

Clearly, from graph leagal department has least
number of employess in each organisation.

87. (b)

Required difference = (280 + 365) – (350 + 260)

= 645 – 610 = 35

88. (d)

Total expenditure = 8000 + 2000 + 6000 + 4000
= 20000

Clothing = 2000

Required% = 
2000

20,000
× 100 = 10%

89. (b)

Difference = 30% – 15% = 15%

Required amount =
15

100
× 300000 = Rs.45000

90. (d)

Required% = 
30

33 30 36 21  
× 100

30
100

120
  = 25%

91. (b)

Required difference = 115 – 60 = 55 lakh

92. (b)

Required number = 
3

4
× 4000 – 

1

3
× 6000

= 3000 – 2000 = 1000

93. (c)

Required amount = 
20 13

100


× 7500000

= 33 × 75000 = 24,75,000

94. (d)

Required% = 
380 –150

100
380



= 
230

100
380

 = 
1150 10

60 %
19 19



95. (b)

Clearly, from the graph class IX has manimum no. of
students.

96. (b)

Required difference:-

320 240 320 200
–

2 2

 

= 280 – 260 = 20

97. (b)

Required angle = 
30

100
× 360° = 108°

98. (a)

Total respondents = 200

Those who own a car = 25 + 15 + 10 + 5 = 55

Those who not own a car = 200 – 55 = 145

Required% = 
145

200
× 100 = 72.5%

99. (a)

Required ratio:-

7000 6600 13600

8000 7600 15600


 

  = 
34

39
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100. (a)

Required difference:-

(15 – 10)% = 5% of 1200 kg

=
1

20
× 1200 = 60 kg

101. (d)

Required marks = 88 + 80 + 90 + 82 + 85 = 425

102. (c)

Required% = 
162 100

933


= 17.36%

103. (d)

Required percentage = 
20

45
× 100 = 44.44%

104. (d)

From table it is clear that, lowest sale combination is:-
B, 2010

105. (a)

From the table it is clear that A has maximum employees.

106. (d)

Required% = 
 20 –10 10

100
10 10

  = 100%

107. (c)

Required difference =  (45 – 40) × 100 = 500

108. (d)

Required difference = (15 – 5)% = 10% of 100000

                              = 10,000

109. (d)

Overall avg. increament of Kamal:-

65 55 75 195

3 3

 
 = Rs.65

110. (b)

Required ratio = 
212 168

255 245




 = 

380

500
  19 : 25

111. (a)

2017 expenditure  80

2018  expenditure  100

Required% = 
100 – 80

80
× 100 = 25%

112. (d)

Required ratio = 
69 63

74 90




= 

132

164
 = 

33

41

113. (a)

Clearly, from table required city is:- 'B'

114. (d)

Required average:-

     

   

4 0 22 1 15 2

6 3 4 2

4 22 15 6 2

    

   


   

= 
22 30 18 8 78

49 49

  
  = 1.59

115. (b)

Required amount = 
79.2

360




× 56800 = 12496


